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1. OOuue moI0KeHUus

@DOHJ| OLIEHOYHBIX CPEJICTB — COCTaBHAs 4acTh OCHOBHOM 00Opa30BaTeIbHOW MPOrpPaMMBbI 110
COOTBETCTBYIOILIIEMY HAlpPaBJICHUIO MOATOTOBKU M MPOMUITIO MOArOTOBKH. HOpMaTUBHBIM aKTOM,
OIPEACIISAIONIUM MOPSIOK BUJIOB KOHTPOJISI M aTTECTALUU CTY/IEHTOB BY30B, siBlsieTcs «Tumnosoe
noJIoKeHne 00 00pa3oBaTENbHOM YUPEXKJICHHH BBICIIEr0 MPO(pECCHOHATBLHOIO 00pa3oBaHUs
(BeicieM yueOHOM 3aBeneHuHM) Poccuiickoit deneparuuy», yrBepxacHHoe IlocTaHoBieHHEM
ITpaButenscTBa Poccuu Ne 71 ot 14 despans 2008 r. CornacHo nanHomy IlosoxeHnuto, Beiciiee
yueOHOE 3aBe/eHUE OIICHHBAeT KaueCTBO OCBOEHHS OOpPa30BaTEIbHBIX MPOTpaMM MyTEM
OCYLIECTBJIEHUS  TEKYLIEro KOHTPOJISI  YCIIEBAEMOCTH, IPOMEXKYTOUYHOM  aTTECTaluu
00y4aromuxcsi U UTOrOBOW aTTECTALIUN BbIITYCKHUKOB.

@oH/I OLIEHOYHBIX CPEACTB MO AucHUIUIMHE «VHOCTpaHHBIA S3BIK B MPO(GECCHOHATBHON
KOMMYHUKAIIUM» MpeJHa3HAYeH JJI1 KOHTPOJIS 3HAaHUM, pealu3yeMblX II0 HalpaBICHUIO

noarotoBku 06.04.01 «buonorus» npopuinb «bHOIKOTOTHS.

2. Onucanue nokasareJieil 1 KpuTepHeB OLIEHUBAHUS KOMIIETEHIMIi HA Pa3IHYHbIX

Tanax ux (opMUpPOBaHUS, ONUCAHME IIKAJ OLlEHUBAHUS

/I Kon u conepxanue OcHOBHBIE TIOKA3aTeNN OIIEHKHU pe3ynbTaToB | Kputepuu olieHuBaHuUs
KOHTPOJIUPYEMOMH
KOMICTEHITHH
1. VYK-4— cnocoben IoporoBxrif TEKVYIINN

NIPUMEHSTh 3HAMb. 0COOEHHOCTH nemoBoro | KOHTPOJIb:
COBpEMCHHEIC po¢eCCHOHATHHOTO oOmIeHns B | MPaKTUYECKOE 3aJaHHe
KOMMYHHUKATHBHEIC aKaJIeMHUIecKOil/HaydHOU cpee;
TEXHOJIOTHH, B TOM
YHUClie Ha =
MHOCTPaHHOM si3biKe, | LIDOJBHHYTBIH TEKYIINN
JUISl aKaJIEMHUECKOro | SHANb KOHTPOJIb:
u 0COOEHHOCTH JIETIOBOTO [IpakTrdeckoe 3axaHue,
npodeccronansHoro | MPOPECCHOHATBHOTO OOIICHHS B coo0IeHune
B3aMMO/IEHCTBHS; aKaJIeMHU9eCKOI/HaydHOU cpee;

Yuemo

aHATM3UPOBATh HAYIHBIC COOBITHS C

OIICHKO# UX 3HAYMMOCTH, BHICKA3bIBATh

CcOOCTBEHHOE MHEHHE T10 TTpobiiemMam,

CBS3aHHBIM C HAYYHOU U

npodeccnoHambHOM JeSTENbHOCTBIO.

2. VK-5 — cnocoben IoporoBxrif TEKVLINN
aHAJIM3UPOBATH U 3HaTh: CTepeoTHITHI oBeneHus U odmenns, | KOHTPOJIb:
YYHTBHIBATh (hopMyIIBI 3TUKETHON peyH. MPaKTHIECKOE 3a/IaHUC
pasHooOpasue
KyJbTYp B IPOLCCCE | 171 npumryThIit TEKYLUN
MEKKYIBTYPHOTO Suamy KOHTPOJIb:
B3aMMOIIEUCTBH, CTEpEOTHIIBI TIOBEJICHHS M OOIICHHS, ITpakTHYecKOe 3a/1aHue,

(hopMyIBl STHKETHON peuwn. coo01ieHue
Ymemo

aHAITM3UPOBATH U OCYIIECTBIIAT

MEXKKYJIBTYpHBIC KOHTAKTHI C 3apyOC:KHBIMU

KOJIJIETaMH, CO3JIaBaTh COOCTBCHHBIC

00pa3iel peun B cepe HaydIHOH u

PO eCCUOHATBHON KOMMYHUKAIIHH.




OIIK-2 — criocoben

IToporosblit

TEK VLI

TBOPYECKH 3namo: KOHTPOJIb:
HCTIOB30BaTh B OCHOBHBIE (POPMBI YCTHOW U MUCHMEHHOM MIPAKTHIECKOE 3a/1aHNE
po¢eCCHOHATBHOM pedn Ha OCHOBE U3YUEHHOTO JIEKCHYECKOTO

JeSITeTbHOCTH MaTepHaja, He0OXOIUMOTO s

3HaHUA B3aMMO/ICHCTBHUS B IIpOLIECcCe

(yHIAMEHTANBHBIX U | TIPO(ECCHOHATBHON ACATENEHOCTH;

MIPUKIIATHBIX

pa3zaenoB qucuuiinH | [IponBUHYTHIN TEKYLIII/IPI
(Momyueit), 3namy: KOHTPOJIb:
ONPECNAIOIINX OCHOBHBIC (DOPMBI YCTHOM U MUCHMEHHOM [pakTryeckoe 3a1aHue,
HATPABJICHHOCTh peur Ha OCHOBE U3YyUEHHOTO JIEKCUYECKOTO cooOmeHne
MIPOTrpaMMBbI MaTepuaia, He0OX0IUMOTO JIIs

MarucTpaTyphl. B3aUMO/JICHCTBUS B IIpoIiecce

po¢eCCHOHANBHON NesITeIbHOCTH;

Ymems:

aHATM3UPOBATH HHPOPMALIHIO, YETKO U SICHO
(hopMyITHPOBATE MBICIH, IOTHIHO U
apryMEeHTHPOBAHO M3JIaraTh CBOIO TOUKY

3peHuUs;

Bnaoemy:

HABBIKOM COCTABJICHHS W PEIAKTHPOBAHUS
JIOKYMCHTOB Ha

HWHOCTPAHHOM A3BIKC, a TaKKE€ HaBbIKOM
HCIOJIb30BaHUA HWHOCTPAHHOTO A3bIKa B
nponecce O6CY)KI[GHI/IH n HIPUHATHUA
OpraHn3aliMOHHHBIX peHIeHI/If/lI.

[MPOMEXYTOYHASA
ATTECTALUS: 3auer,
9K3aMeH

TunoBbie KOHTPOJIbHBIE 32JAHUSA

KonTponbHo-ouenounsie cpencta (KOC) mpenHasHaueHbl A7 KOHTPOJIS U OLEHKU
00pa30BaTeNbHbIX JOCTHKEHUH 00Yy4aroIMUXCsl, OCBOMBIIMX IPOrpaMMy Y4eOHOM IHCIUILIMHBI
«MHocTpannbii a3b1K». KOC BKIIOYatOT KOHTPOJIBHBIE MAaTEPHUAIIB] JUIsl IPOBEACHUS TEKYIIETO
KOHTPOJISI U TPOMEXYTOUHOM aTTECTalNH.

Texkymuii KOHTPOJIb

Texymuii KOHTpPOJIb MPENyCMATPUBAET IPOBEPKY OTIENBHBIX 3HAaHWW, YMEHUH U
HABBIKOB CTYJIEHTOB, IIOJIYyUYEHHBIX J0 Hayana oOydeHHs WIM BO BpeMs OO0y4deHHs IO
quciumuinHe. Tekyluil KOHTPOdb HMEET IeNIbI0 OLIEHUTh CHUCTEMAaTHYHOCTh y4eOHOH padoThl
CTyJEHTa B Te€UEHUE ceMecTpa. TeKyluii KOHTPOJIb MpeaHa3HaueH NI MPOBEPKU JOCTUKEHHS
CTYJCHTOM OTJAEJbHBIX yYEOHBIX L€ M BBINOJHEHUS YacTH Y4YeOHBIX 3a/Jay MPOrpaMMbI
yueOHo# nuctumianHbl. PopMaMM TEKYILEro KOHTPOJS Mo AUCHUILIINHE «HOCTpaHHBIN S3bIK»
SBIISIIOTCSI IPAKTHUECKUE 3aJaHHsI, COOOIICHMUS.

IIpakTnyeckoe 3agaHue — cucTeMa 3aJaHUMN, MO3BOJISAIONIAS OCYLIECTBUTH NPOLENYPY
U3MEPEHUs YPOBHS 3HAHUN U YMEHUI 00y4aromerocs.

Coo0menne — KOHEYHBI MNPOAYKT, MOJIy4YaeMbli B PE3yJbTaTe IUIAHUPOBAaHUSA U
BBITMIOJTHEHHS] KOMIUIEKCa y4eOHbBIX U UCCIIeIOBATeNbCKUX 3aJ4aHui. [103BOMIsSIET OLlEHUTh YMEHUS
0o0y4aroInXcsl CaMOCTOSITEIbHO KOHCTPYMpPOBAaTh CBOM 3HAHUSA B IIpoIEecce pelIeHUs
MPAKTUYECKUX 3a7ad W MNpoOsieM, OpUEHTHUPOBAThCS B HHGOPMALIMOHHOM IPOCTPAHCTBE U
ypOBEHb  C(HOPMUPOBAHHOCTH HaBbIKOB

AHAJIUTUYCCKUX, HCCICAOBATCIbCKUX HAaBBIKOB,



IPAaKTUYECKOI0 M TBOPYECKOTO MBINUIEHUS. MOXKET BBINOIHATHCS B UHAUBHUYaIbHOM MOPSIKE
WIY TPYNION 00yYaromuxcs.

[IpakTnueckue 3agaHust U cooOLIeHUs 10 yuyeOHON auctuiuinHe «HOCTpaHHBIN S3bIK»
CHOCOOCTBYIOT (POPMHPOBAHUIO B JabHEHIIEM NMPH U3Y4YEHUH NMPO(EeCcCHOHANIBHBIX MOIYJEH,
CJIEAYIONIMX 00IenpodecCHOHaIBHBIX U MPO(ECCHOHATBHBIX KOMITETECHIIUNA:

- CaMOCTOSITEJIbHO AHAJIM3MPOBAaTh HUMEIOILYIOCS HMH(OpMaIUIo, CTaBUTh 3aJady, HECTH
OTBETCTBEHHOCTH 32 Ka4eCTBO padOT U HAYYHYIO JOCTOBEPHOCTh PE3yJIbTaTOB;

- npodeccuoHabHO O(OPMIIATh, MPEACTABIATh M JOKJIAJAbIBaTh pPE3YylbTaThl HAyYHO-
UCCIIEI0BATEIbCKUX U POU3BOACTBEHHO-TEXHUUECKUX PadOT IO YTBEPKACHHBIM (hopMawm;

- FEHEpUPOBATH HOBBIE UAECH U METOJINYECKUE PELICHMUS;

- YMETh IPEACTaBIATh YU€OHBII MaTepuan B YCTHOM, MUCHbMEHHOW U Tpaduueckoi hopme JuIs
pa3IMYHbIX KOHTUHIEHTOB CIylIaTesNei.

KoMnieKkT npakTu4ecKkux 3aJaHuil mo gucuuniinie « MHOCTPaHHBIHA A3BIK»

Assignment 1. Read and translate the text:
What are Transferrable Skills?

Transferable skills are core skills, which are of value in different situations and jobs. Higher
education will give you the opportunity to develop a wide range of transferable skills, which will be of
considerable help to you in your further studies or in whatever chosen field of employment you may go
into.

The sorts of things that are considered transferable skills are: having self-awareness, being able to
communicate clearly with others, having initiative, demonstrating competence with IT, showing
commitment to seeing things through to the end, being able to work independently, knowing how to
tackle problems when they arise rather than becoming disheartened and giving up, managing all important
deadlines, having numeracy skills, being able to lead others as well as being part of a team, presenting
your ideas in a way that others can follow and understand, knowing how to undertake research and find
evidence, thinking critically and asking the pertinent questions, analyzing evidence and making
judgments on the results, bringing enthusiasm to tasks, using a foreign language, being flexible and open-
minded, knowing how to network and introduce yourself to others, responding positively to new
challenges, being decisive, having business acumen, being proactive.

Through the course of studies, you will have the chance to practice and develop many of these
skills, along with numerous subject-specific skills related to your professional field.

Name five top transferrable skills necessary to a good Master student / artist / teacher /
businessperson.
Answer the following questions:

1) What transferrable skills do you have?

2) What skills would you like to develop in your character?

3) What other transferrable skills, not mentioned above, could you name?

Assignment 2. Scan the text in order to find the following information in it:
1) The proportion of young people involved in post-school education in Britain:
England & Wales
Scotland
2) Higher education in Britain is received at
3) The first awarded degree
The course lasts
Students are called
4) The next awarded degree
The course lasts
Students are called
5) The highest degree
The course lasts




6) The number of terms

7) Vacations:
1.
lasts
2.
lasts
3.
lasts

Post-school Education in Britain

There is a considerable enthusiasm for post-school education in Britain. A large proportion of
young people — about a third in England and Wales and almost half in Scotland — continue in education at
a more advanced level beyond the age of 18. The higher education sector provides a variety of courses up
to degree and postgraduate degree level, and carries out research. Higher education in Britain is
traditionally associated with universities, though education of University standard is also given in other
institutions such as colleges and institutes of higher education, which have the power to award their own
degrees.

All degree courses last three years, however there are some four-year courses and medical and
veterinary courses last five or six years. The British University year is divided into three terms. The
vacations — a month at Christmas, a month at Easter, and three or four months in summer — are mainly
periods of private study.

Students studying for the first degree are called undergraduates. At the end of the third year of
study they sit for their examinations and take the Bachelor’s Degree. Those engaged in the study of art
subjects such as history, languages, economics or law take Bachelor of Arts (BA). Students studying pure
or applied sciences such as medicine, dentistry, technology or agriculture get Bachelor of Science (BSc).
When they have been awarded the degree, they are known as graduates.

Students who obtain their Bachelor degree can apply to take a further degree course, usually
involving a mixture of exam courses and research. There are two different types of post-graduate courses
— the Master’s Degree (MA or MSc), which takes one or two years, and the higher degree of Doctor of
Philosophy (PhD), which takes two or three years.

Assignment 3. Read and translate the text:
Some Steps to Effective Time Management

Time management is a key to academic success. Students around the world learn this sooner or later.
The best students are not necessarily those who are “smarter”, but those who use their time effectively.
When you plan your days and weeks in advance, time can be your friend rather than your enemy.
Planning can help you get more done with less stress, disorganization and frustration.

Think about it. Have you ever heard of an athlete, even one who is paid millions of dollars a year,
playing in a game without showing up for practice? Have you heard of a musician delivering a concert
without taking time daily to rehearse? Have you heard of a scientist proclaiming a grand discovery
without hundreds of failed trials? All these professionals know that in order to succeed in their
professional areas, they have to put in their time.

Unfortunately, millions of students around the world behave otherwise. They appear for exams
expecting magic! Without making adequate time to study, they hope to get the highest grades and are then
disappointed or ashamed when the results prove otherwise.

There are a number of excellent time management systems that you can follow. Some strategies
below could make a huge impact on your academic career.

1. Organize your time: Life improves when you decide to do things differently. In this case, the goal
is to gain control over time, rather than letting it control you. It is about taking ownership (sradenue) of
time, which is the essence (cyms) of your life. The main objective of time management is for you to have
a clear picture of your upcoming days, weeks, and months. It is a way for you to discover what time you
have available to devote to study, recreation (omowix, pazsneuenue), or other activities. Make the decision
to be the master of your life, rather than its suffering slave!

2. Assess your time: Many students believe that they study a lot. Some even protest that they study
all the time! In reality, this is far from the truth. The only way you will discover how many hours of your
busy day you actually study is by completing a personal time assessment. The method requires you to
keep track of everything you do for an entire week, from the time you wake up to the time you fall asleep.



That means recording every single detail. At the end of the week, add up the totals. For example, count
the number of hours spent on eating, traveling, studying, talking on the phone, shopping, exercising,
smoking, watching TV, being online, etc, until you have a complete picture of where your time goes. If
you find you are losing a lot of time to activities other than studying, try to balance your schedule.

3. Set your priorities: The objective of time management is to allocate (pacnpedersms) time wisely,
S0 you can achieve your goals. If you wanted to be an Olympic swimmer or ice skater, you would have to
practice several hours a day for years. In the same way, to be a top student you must have a good idea of
the study requirements. Even though each subject places different demands on you — reading, writing,
research, experiments, assignments, essays, projects, papers, presentations, tests, and exams — by
prioritizing, you will increase your chances of success. For each subject, decide how to complete all
required tasks, over a weekly, monthly, and yearly basis.

Assignment 4. Study the problems of the following students and recommend them the proper
solutions based on the step(s) to effective time management, using the introductory phrases:
1 (strongly) recommend you (not) to ...
Try (not) to ...
You’d better (not) ...
You should (not) ...
You may ...

Problem 1. Student A is enjoying his first year. He has a lot of friends and a great social life. But this
doesn't leave much time for work. A is anxious and guilty about this and to avoid these feelings he spends
even more time going out.

Problem 2. Student B is a perfectionist. She works all the time as she finds it hard to be realistic
about how much she has to do. Her goals are defined as "I should work harder" or "I must do better".
Because she feels that nothing she does is good enough, B doesn't know when to stop, so she ends up
feeling overwhelmed.

Problem 3. Student C leaves everything to the last minute. For C this is an attempt to deal with
anxiety about his work since it gives him no time to agonize about whether it is good enough. However,
putting things off is actually very stressful and C encounters difficulties over more complex, long-term
projects or if a last minute crisis occurs.

Problem 4. Every day Student D means to get up at 8.00am and start work, but other things always

seem more important. The longer she puts it off, the huger and more unmanageable her assignment
seems. When D stops to look it is clear how much time she wastes. She also recognizes that she actually
works better at night.

Assignment 5. Do the crossword.

Speaking of Science
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ACROSS

1. Volcanic glass full of cavities

4. Otological passages

8. Pisan who championed heliocentrism

10. Grassy South American plain

11. Unit of weight; snow leopard

12. Brand-new brant, perhaps

13. Site of the medulla oblongata (2 words)

17. Type of baleen whale like the humpback or minke
19. Word after Canis or Ursa

21. Target of a chemical “seeding”

22. Like the dodo, the moa, and Homo floresiensis
23. White of the eye

24. Straight-line configuration of three celestial bodies
DOWN

1. Dove’s city cousin

2. Fruit in the genus Cucumis

3. Volcanologist’s depression?

5. Cartology project

6. Reappearance of a lost trait

7. Pore thing?

9. Cellular subunit such as a mitochondrion

13. Rodent hunter on a farm (2 words)

14. Fodder grass that’s also a man’s name

15. Evidence of a dinosaur’s passing

16. Made of small air bubbles, as foam

18. Calf’s feeding station

20. Female donkey

Assignment 6.

A. Select the most appropriate words from the list below to complete the following paragraph:

If a cell develops in such a way that it does one particular job very efficiently, it is said to

be....... . Such a cell is also said to be ....... to its function. A nerve cell is ..... for conducting impulses.
It can do this efficiently because of its ...... and the chemical reactions in its .....

shape, vacuole, adapted, cytoplasm, size, specialised, mature, mitochondria

B. Classify the following under the headings 'Cell structure’, "Tissue', ‘Organ’ or 'System’.
bone, nucleus, skeleton, brain, nerve, mitochondrion, muscle, cytoplasm, epithelium,
heart and blood vessels, stomach, alimentary canal, lung, lungs and windpipe

Assignment 7.

A. Which of the following statements are true?
All cells

(a) are specialised (d) contain chloroplasts

(b) have a cell wall (e) have a cell membrane.

(c) have cytoplasm (R)

B. Match the following functions to the cell structures listed below:
(a) controls cell division (c) controls entry of substances into a cell
(b) produces energy, (d) encloses a plant cell. (R)

mitochondrion, cell membrane, nucleus, cell wall

C. Which of the following are important ‘greenhouse’ gases?



oxygen, water vapour, carbon dioxide, nitrogen oxides, ozone, methane, nitrogen

Assignment 8.
A. Read the following extract which is taken from 'Can clean clothes damage your health?’

Among the products of biotechnology is the 'biological' washing powder. Enzymes made by
bacteria grown in massive fermenters can digest away stubborn stains on clothing, even in tepid water,
and thus lower the cost of cleanliness. Enzymes in washing powders have a long history, but they were
not introduced into Britain until the mid-1960s. Enzymes are biological molecules -proteins - that can
alter the rate of particular chemical reactions but remain unchanged once the reactions are over. Some
2000 enzymes have been classified, and 150 have found commercial uses. Each kind of enzyme speeds
up, or catalyses a particular reaction. Thus a small amount of enzyme can bring about a large and

precisely controlled change in the appropriate starting materials.
© NEW SCIENTIST

(a) Where did the enzymes in washing powders come from?

(b) How do the enzymes help reduce the costs of washing?

(c) According to the article, what do enzymes do?

(d) For how many years have enzymes been used in washing powders in Britain? (C)

B. Put the following events in the most probable order.
(a) Predatory birds poisoned by insecticide.

(b) Trees sprayed with insecticide.

(c) Earthworms eat leaves which fall from trees.

(d) Predatory birds eat small birds.

(e) Beetles damage trees by spreading a virus.

(f) Insecticide absorbed by tree leaves.

(g) Small birds eat earthworms.

Assignment 9. Read the following passage which is taken from an article, 'The well-nourished
vegetarian'. (An ‘omnivorous' diet is one which includes meat as well as plant products.) (C)

The third likely point of difference between vegetarian and omnivorous, diets is in the amount
and type of fat in each. There are two main categories of fat in the diet: the triglycerides (most fats are in
this category) and cholesterol. Both these classes of fat are also found in the blood. High levels of
cholesterol in the blood are clearly related to a high incidence of coronary heart disease (which is the
biggest single cause of death among Western men) and the bulk of evidence suggests that the link is
causative. A high intake of triglycerides can raise blood cholesterol levels. But triglycerides are of two
kinds, saturated and unsaturated; and it seems that whereas the saturated fats do indeed raise blood
cholesterol levels, unsaturated fats (or, more specifically, the polyunsaturates, which are very unsaturated)
reduce blood cholesterol levels. In general, the fats of animals (hard fats) are highly, saturated, while the
oils of plants tend to be unsaturated.

There are notable exceptions: coconut oil, for instance, is highly saturated; and so too are some of
the cheap refined oils sold for cooking. But corn, soya, sunflower or safflower oils in particular are highly
unsaturated. So in general a vegetarian ought to eat less fat than an omnivore; ought to eat a higher
proportion of polyunsaturates; and ought therefore to have lower blood cholesterol and suffer fewer of the
diseases associated with high blood cholesterol.

©NEW SCIENTIST
According to the article:
(a) What are the two main categories of dietary fat?
(b) What does ". . . the bulk of evidence suggests that the link is causative.' mean?
(c) What are the two types of triglyceride?
(d) Which of these is associated with high blood cholesterol?
(e) Name a saturated fat (i) from an animal source, (ii) from a plant source.

Assignment 10. Read the text.




A project in Japan, between 1965 and 1981, studied the diets and life-styles of 100,000 people,
dividing them into categories according to their smoking and drinking habits, whether they ate meat and
had a daily intake of vegetables. By 1981, 30,000 of the sample had died and the mortality rates for six of
the groups are shown in the chart.

death rate per 10,000

smoking
drinking
meat

vegetables

© NEW SCIENTIST

Comment on the results with regard to
(a) smoking, (b) drinking, (c) eating meat
(d) eating vegetables each day.

What other information about the trial would you need before you could confidently interpret the results?

Assignment 11. Read the text and do the tasks.

Background information Biology is the study of the world in which we live, through controlled
and orderly observations and innovations. We study Biology in order to understand and apply knowledge
of living things to everyday life. Its goal is to enable us to know ourselves and certain associations that
determine sustainable development in the world in which we live. Several Biology subfields have
explained special ways of looking at living things. These have led to the acquisition of information on the
mode of life systems and integration into the socioeconomic development activities of the community and
the environment. Therefore, Biology is not the kind of ‘space’ in which you should look for improved
standards of living only but also develop your ability to critically think and creatively apply knowledge,
to understand the universe

What to do

. Make a list of professions or types of specialised work that require knowledge of biological
Science to produce a product or to provide a service. Consider the areas of nutrition, health, education,
environment, tourism, agriculture, sports Science, etc.

. Plan activities based on your professional/specialist choice list, in a role play either by writing a
story/a poem/a music piece/drama presentation on the person you want to become in future.
. Present what you have written to your class/school.

Assignment 12.

Answer the following questions:

1. Why is it difficult to define life? (Give at least two reasons.)

2. What are the characteristics of living matter? (Name at least three.)

Using your dictionary, translate the following:
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The quality of life emerges on the level of the cell. Just as an atom is the smallest unit of an
element, so too the cell is the smallest unit of life. The difference between a living cell and a
conglomeration of hemicals illustrates some of the emergent properties of life. Fundamentally, all cells
contain genes, units of heredity that provide the information needed to control the life of the cell;
subcellular structures called organelles, these being miniature chemical factories that use the information
in the genes and keep the cell alive; and a plasma membrane, a thin sheet surrounding the cell that both
encloses a watery medium (the cytoplasm) that contains the organelles and separates the cell from the
outside world. Some life-forms, mostly microscopic, consist of just one cell, but larger life-forms are
composed of many cells whose functions are differentiated. In these multicellular ife-forms, cells of
similar type are combined into tissues, each performing a particular function. Various tissue types
combine to make up a structural unit called an organ. Several organs that collectively perform a single
function are called an organ system, and all the rgan systems functioning cooperatively make up an
individual living thing, the organism.

Assignment 13.

A. . Compose three sentences which would include all the words and word combinations
below. Please pay attention to the examples below. You can use the constructions given
there:

Examples:

A cell consists of/is composed of/comprises the plasma membrane, the cytoplasm, and subcellular
structures.

The plasma membrane, the cytoplasm, and subcellular stuctures constitute/comprise a cell.

The cell includes the nucleus and the cytoplasm.

hereditary information an individual the biosphere population microscopic and multicellular life-forms
subcellular structures non-living matter

B. Group these words according to any chosen criterion:
individual a community the plasma membrane a cell subcellular structures conversion of matter and
energy the cytoplasm a habitat the flow of matter organic molecules proteins vital functions genes
metabolism the biosphere

Assignment 14.

A. Three tasks presented below are multiple choice tasks. Only one answer in each assignment
is correct. Make your choice!
A.. A scientist examines an organism and finds that it is eukaryotic, heterotrophic, and multicellular and
that it absorbs nutrients. She concludes that the organism is a member of the kingdom:
a. Bacteria. d. Fungi.
b. Protista. e. Animalia.
c. Plantae. f. Archaea.
2. Which statement is correct?
a. Eukaryotic cells are simpler than prokaryotic cells.
b. ‘Heterotroph’ means ‘self-feeder’.
c. Mutations are accidental changes in genes.
d. A scientific theory is similar to an educated guess.
e. Genes are proteins that produce DNA.
3. Which of the following are characteristics of living things?
a. They reproduce.
b. They respond to stimuli.
c. They are complex and organized.
d. They acquire energy.
e. All of the above

B. Match parts of the sentences:
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1. I can’t admit a. my telling him what to do.

2. The accusedl denied b. being treated in such a way.

3. We dislike c. his getting so much money for nothing.

4. Do you feel like d. going out tonight?

5. Do you fancy e. stealing the money because | was in a different place at that time.
6. Do you mind f. my closing the window? There is a draught.

7. 1 strongly resent g. being guilty until his execution.

8. He can’t stand h. playing some old tune?

Assignment 15.

I. Read the text. Some sentences have been taken out of the text and are listed below. Choose the
correct sentence (a, b, c, etc.) for each gap in the text (1, 2, 3, etc.):

(1) ... As a result, the bodies of all organisms use the same basic types of molecules. For this
reason, humans can obtain nutrients from her organisms, and our bodies, in turn, can become nutrients for
other organisms after we die.

(2) ... How are these molecules formed? What roles do these biological molecules play in our
bodies and in the bodies of plants, insects, and fungi? Here we are talking about the basic types of organic
molecules — the carbohydrates [ka:bav'haidreits], lipids, proteins ['provti:nz], and nucleic acids — that
form the basis of life on Earth.

(3) ... The term is derived from the ability of living organisms to synthesize and use these
molecules. Inorganic molecules include carbon dioxide and all molecules without carbon, such as water.

Although the common structure and function of the types of organic molecules among organisms
afford unity, the tremendous range of organic molecules accounts for the diversity of living organisms
and for the diversity of structures within single organisms and even within individual cells. This vast
array of organic molecules, in turn, is possible because the carbon atom is so versatile. A carbon atom has
four electrons in its outermost shell, with room for eight. (4) ... They become stable by sharing four
electrons with other atoms, forming up to four single covalent bonds or fewer double or triple covalent
bonds. Molecules with many carbon atoms can assume complex shapes, including chains, branches, and
rings.

Organic molecules are much more than just complicated skeletons of carbon atoms, however.
Attached to the carbon backbone are groups of atoms, called functional groups that determine the
characteristics and chemical reactivity of the molecules. (5) ...

(6) ... the use of the same set of functional groups in virtually all organic molecules in all types of
organisms and the use of the ‘modular approach’ to synthesizing large organic molecules.

Sentences to be put into the spaces left:

a. These functional groups are far less stable than the carbon backbone and are more likely to participate
in chemical reactions.

b. All of the diverse forms of life, from bacteria and mushrooms to redwood trees and from sea urchins to
humans, evolved from a distant common ancestor.

c. Therefore, carbon atoms are able to form many bonds.

d. The similarity among organic molecules from all forms of life is a consequence of two main features?
e. What sorts of basic biological molecules make up living things?

f. In chemistry, the term organic is used to describe molecules that have a carbon skeleton and also
contain some hydrogen atoms.

1. Give the headline of the text in one word, as a word combination, and a whole sentence.

Assignment 16.

I. Think and choose the right answer:

1. Which of the following is not a function of polysaccharides in organisms?
a. Energy storage.

b. Storage of hereditary information.

¢. Formation of cell walls.

d. Structural support.
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e. Formation of exoskeletons.

2. Characteristics of carbon that contribute to its ability to form an immense diversity of organic
molecules include its

a. tendency to form covalent bonds.

b. ability to bond with up to four other atoms.

c. ability to bond together to form extensive, branched, or unbranched carbon skeletons.

d. All of the above.

3. Foods that are high in fiber are most likely to be derived from
a. plants.

b. dairy products.

C. meat.

d. fish.

e. all of the above.

4. Proteins differ from one another because

. the peptide bonds linking amino acids differ from protein to protein.

. the sequence of amino acids in the polypeptide chain differs from protein to protein.
c. each protein molecule contains its own unique sequence of sugar molecules.

d. the number of nucleotides in each protein varies from molecule to molecule.

e. the number of nitrogen atoms in each amino acid differs from the number in all atoms.

oo

5. Which, if any, of the following choices does not properly pair an organic compound with one of its
building blocks (subunits)?

. Polysaccharides — monosaccharide.

. Fat — fatty acid.

c. Nucleic acid — glycerol.

d. Protein — amino acid.

e. All are paired correctly.

o o

6. Which of the following statements about lipids is false?
a. Wax is a lipid.

b. Unsaturated fats are liquid at room temperature.

c. The body does not need any cholesterol.

d. Both male and female sex hormones are steroids.

e. Beef fat is highly saturated.

Assignment 17.

I. Put paragraphs of the following text in order, then read and translate it:
Energy Carriers in Cells

A ATP is admirably suited to carry energy within cells. The bonds joining the last two phosphate
groups of ATP to the rest of the molecule (sometimes called high-energy bonds) require a large amount of
energy to form, so considerable energy can be trapped from exergonic reactions; it readily releases its
energy in the presence of appropriate enzymes. Under most circumstances, only the bond joining the last
phosphate group (the one joining phosphate to ADP to form ATP) carries energy from exergonic to
endergonic reactions.

B Energy can also be transported within a cell by other carrier molecules. In some exergonic
reactions, including both glucose metabolism and the light-capturing stage of photosynthesis, some
energy is transferred to electrons. These energetic electrons (in some cases, along with hydrogen atoms)
are captured by electron carriers.

C The life span of an ATP molecule is very short, because this energy carrier is continuously
formed, broken apart to ADP, and resynthesized. More stable molecules, such as sucrose, glycogen,
starch, or fat, store energy in our body for hours, days, or months.
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D Common electron carriers include nicotinamide adenine dinucleotide and its relative flavin
adenine dinucleotide. Electron-carrier molecules pick up electrons generated by exergonic reactions and
hold them in high-energy outer electron shells. Hydrogen atoms are often picked up simultaneously. The
electron is then deposited with another molecule to drive an endergonic reaction, typically the synthesis
of ATP.

E The most common energy-carrier molecule in cells is adenosine triphosphate, or ATP. It is a
nucleotide composed of the nitrogen-containing base adenine, the sugar ribose, and three phosphate
groups. Energy released in cells through glucose breakdown is used to drive the ynthesis of ATP from
adenosine diphosphate (ADP) and inorganic phosphate. ATP carries this energy to sites in the cell that
perform energy- requiring reactions, such as the synthesis of proteins or muscle contraction. The ATP is
then broken down to form ADP and inorganic hosphate. During these energy transfers, heat is given off at
each stage, and there is a loss of usable energy.

I1. Choose the right answer:

ATP is important in cells because

a. it is assembled into long chains that make up cells membranes.

b. it acts as an enzyme.

c. it accelerates diffusion.

d. it transfers energy from exergonic reactions to endergonic reactions.
e. all of the above.

I11. Fill in the blanks with appropriate terms from the text:

1. Some substances in our organism are formed just for seconds, roken apart and then ...... .
2. If a substance contains no carbon molecules, itis an ...... substance.

3. is among common electron carriers.

4. The synthesis of proteins is an ...... reaction.

5. During exergonic reactions heat is ...... .

Assignment 18.

I. Read the following text about fossils. There are several sentences taken out of the text. Put them
into correct places:

As new lands were explored, excavations for roads, mines, and canals revealed that many rocks
occur in layers. In some cases, a few strangely shaped rocks or fragments were found embedded within
one of these layers. (1)... At first, fossils were thought to be ordinary rocks that wind, water or people had
worked into life-like forms. As more and more fossils were discovered, however, it became obvious that
they were in fact the remains of plants or animals that had died long ago and been changed into or in
some ways preserved in rock. (2)... The classic image of a fossil is of bones or other hard parts (such as
shells) that have been transformed into rock by aeons of geological processing. But fossils also include
casts, molds, and other impressions that organisms left in ancient sediments before decomposing. Some
of the most interesting and informative fossils are the trails, burrows, tracks, or droppings that organisms
left behind. (3)...

These windows into the past are fascinating in and of themselves, but the distribution of fossils in
rock can also be revealing. After studying fossils carefully, the British surveyor William Smith (1769—
1839) realized that certain fossils were always found in the same layers of rock. Further, the organization
of fossils and rock layers was consistent: Fossil type A could always be found in a rock layer resting atop
an older layer containing fossil type B, which in turn rested atop a still older layer containing fossil type
C, and so on.

(4)... Most fossils found in the lowest (and therefore oldest) rock layers were very different from
modern forms; the resemblance to modern forms gradually increased upward toward younger rocks, as if
here were indeed a ladder of Nature stretching back in time. Many of these fossils were the remains of
plant and animal species that had gone extinct — that is, no members of the species still lived on Earth.
Putting these facts together, scientists came to the inescapable conclusion that different types of
organisms had lived at various times in the past.

a. Fossil remains also showed a remarkable progression of form.
b. These fossils (from Latin, meaning ‘dug up’) resembled parts or living organisms.
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c. In fact, any tangible trace of an organism that is preserved in rock or sediments is a fossil.
d. The rapidly accumulating fossil discoveries also revealed that fossils come in many forms.

Il. Find in the text words meaning:

1. showed 5. objects formed by molding

2. fixed firmly 6. feces

3. unchanged 7. similarity

4. ages 8. no longer existing

I11. Which of the following are fossils?

1. Pollen grains buried in the bottom of a peat bog.
2. The petrified cast of a clam’s burrow.

3. The impression a clam shell made in mud, preserved in mudstone.
4. An insect leg sealed in plant resin.

5. All of the above.

Assignment 19.

I. In 1858, Charles Darwin and Alfred Wallace independently described a chanism for evolution in
remarkably similar papers that were presented to the Linnaean Society in London. They stated
that the evolutionary theory arises from scientific observations and conclusions based on them. But
how did Darwin and Wallace arrive at the conclusion that life’s huge variety of excellent designs
arose by a process of descentl with modification? The chain of logic reading to this powerful
conclusion turns out to be surprisingly simple and straightforward. Their theory is summarized
below in modern terms. However, he observations and conclusions are not given in the right order.
Your task is to match the observations and conclusions and to place them properly.

Observation1: Natural populations of all organisms have the potential to increase rapidly, because
organisms can produce far more offspring2 than are required merely to replace the parents. (A population
consists of all the individuals of one species in a particular area.) Nevertheless, the sizes of most natural
populations and the resources available to maintain them (such as food and appropriate habitat) remain
relatively constant at the time.

Conclusion ..:Over many generations, differential, or unequal, reproduction among individuals
with different genetic makeup changes the overall genetic composition of the population. This process is
evolution by natural selection.

Conclusion ..: Therefore, there is competition for survival and reproduction. In each generation,
many individuals must die young, fail to reproduce, produce few offspring, or produce less-fit offspring
that fail to survive and reproduce in their turn.

Conclusion ..: The most well-adapted (the ‘fittest’) individuals in one generation tend to be the
ones that leave the most offspring. This is natural selection, the process by which the environment selects
for those individuals whose traits best adapt them to that particular environment.

Observation ..:Individual members of a population differ from one another in their ability to
obtain resources, withstand environmental extremes, escape predators, and so on.

Observation ..: At least some of the variation among individuals in traits3 that affect survival or
reproduction is due to genetic differences that may be passed on from parent to offspring.

Notes

1descent — cnyck, cHmkenue; 20ffspring — noromoxk; 3trait — xapaxrepHas 4epra, 0COOCHHOCTh

Assignment 20.

I. Read the text and choose the definitions for the words in italic from the list below as in the
example a:
Prebiotic Conditions Would Allow Organic Molecules to Accumulate
Prebiotic synthesis would not have been very efficient or very fast. Nonetheless, in a few hundred
million years, large quantities of organic molecules could accumulate, especially because they didn’t
break down nearly as fast back then. On Earth today, most organic molecules have a short life; either they
are digested by living organisms or they react with atmospheric oxygen. Primeval Earth lacked both life
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and free oxygen, so these sources of degradation were absent. However, the primordial atmosphere also
lacked the ozone layer, a region high in the atmosphere that is enriched with ozone molecules, which
absorb some of the sun’s high-energy ultraviolet (UV) light before it reaches Earth. uring the early history
of Earth, before the ozone layer formed, UV bombardment, which can break apart organic molecules,
must have been fierce. Some places, however, such as those beneath rock ledges or at the bottoms of
even fairly shallow seas, would have been protected from UV radiation. In these locations, organic
molecules may have accumulated to relatively high levels.

Even in areas protected from the sun, however, it’s unlikely that molecules dissolved in a huge
ocean could reach the concentrations necessary to form spontaneously the more complex molecules that
arose in the next stage of prebiotic evolution. The chemical reactions in which simple molecules
combined to form larger molecules such as RNA and proteins required that the reacting molecules be
packed closely together. Scientists have proposed several mechanisms by which the requisite high
concentrations might have been achieved on early Earth.

One possibility is that shallow pools at the ocean’s edge were filled with water by waves crashing
onto the shore. Afterward, some of the water in the pool might have evaporated, concentrating the
dissolved substances. Given enough cycles of refilling and evaporation, the molecules in these pools
could have become a concentrated ‘primordial soup’ in which spontaneous chemical reactions could
generate complex organic molecules. These molecules could then have become the building blocks of the
first living organisms.

Definitions of words in italics:

a. related to the period when the universe or the Earth first began to ist — primeval
b. the process of the change of a liquid into gas or steam

c. necessary for a particular purpose

d. the process of changing into a worse condition

e. with only a short distance from the top or surface to the bottom

f. formed when the Earth or universe began

g. very strong or severe

h. a narrow surface that continues out from the side of a cliff, wall, or other surface

Assignment 21.

A. Translate the following word combinations:
. a developing organism

. a developed frog

. a dividing cell

. the divided world of the 20th century

. intriguing results of latest experiments

. intrigued observers of the advance of science
. @ misleading hypothesis

. a proved theory

. guided reactions

10. the guiding role of genes

11. failed attempts

12. to develop specialized structures

13. life-sustaining wate

O©CoOoO~NOoO Ok~ wWwN -

B. Read the sentences below and discuss with your partner, if they are true for you:
. 'was grown up to believe that life was a gift, and that | had to treasure it.
. If there is some work to do, | prefer to do it alone.
. Relatives can never become a source of problems.
. I don’t mind seeing a film, even if it is thought of as a bore.
. I am looking forward to finding a good job with an international laboratory.
. It’s fun to be working together on one problem.
. My best friend is thought to have studied in a biologically-biased class at school.
. One of my teachers is known to have been working on the same problem for ten years.
. If you are in university to study, most work is to be done at home.

OCoO~NNOTRE WN P
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10. I always suggest choosing the shortest way in solving any problem.

Assignment 22.

Read and translate the text. Summarize some of the methods of biotechnology:
A DNA Library

Within the past few years, the technologies of recombinant DNA have mushroomed. We will
follow a typical sequence of procedures that might be used to solve a particular problem or to produce a
specific product.

The first task in recombinant DNA technology is to produce a DNA library — a readily
accessible, easily duplicable assemblage of all the DNA of a particular organism. The entire set of genes
carried by a member of any given species is called a genome. Why build a DNA library of a species’
genome? A DNA library organizes the DNA in a way that researchers can use it. Restriction enzymes,
plasmids, and bacteria are the most commonly used tools in assembling a DNA library.

Many bacteria produce restriction enzymes, which sever DNA at particular nucleotide sequences.
In nature, restriction enzymes defend bacteria against viral infections by cutting apart the viral DNA. (The
bacteria protect their own DNA, probably by attaching methyl groups to some of the DNA nucleotides.)
Researchers have isolated restriction enzymes and use them to break DNA into shorter strands at specific
sites.

Most restriction enzymes recognize and sever palindromic sections of DNA, in which the
nucleotide order is the same in one direction on one strand as in the reverse direction on other strand. (A
palindrome is word that reads the same forward and backward, such as ‘madam’.) These single-stranded
cut pieces of the DNA fragment are called ‘sticky ends’, because they will stick to (form hydrogen bonds
with) other single- stranded cut pieces of DNA with the complementary series of bases. If the appropriate
DNA repair enzyme (called DNA ligase) is added, DNA from different sources cut by the same
restriction enzyme can be oined as if the DNA had occurred naturally. Segments of DNA from
undamentally different types of organisms, such as bacteria and humans, can be joined if they have
complementary sticky ends. Any different restriction enzymes have been isolated from various species of
bacteria. Each cuts DNA apart at different but specific palindromic nucleotide sequences. The variety of
restriction enzymes has enabled molecular geneticists to identify and isolate specific segments of DNA
from many organisms, including humans.

Suppose now that human DNA is isolated from white blood cells and is cut apart into many small
fragments with a restriction enzyme. The same restriction enzyme is then used to sever the DNA of
bacterial plasmids. Now both human and plasmid DNA have complementary sticky ends that, when
mixed, form hydrogen bonds. When DNA ligase is added, it bonds the sugar-phosphate backbones
together, inserting segments of human DNA into plasmids.

The new rings of plasmid-human DNA (recombinant DNA) are mixed with bacteria, which take
up the recombinant DNA. Millions or billions of plasmids collectively could incorporate DNA from the
entire human genome. Usually, 100 to 1,000 times more bacteria than plasmids are used, so that no
individual bacterium ends up with more than one recombinant DNA molecule. The resulting population
of bacteria containing recombinant plasmid-human DNA constitutes a human DNA library.

Assignment 23.

A. Match two parts of the sentences:

. One can assume this

. We expect the scope of the research

. Most people consider science

. | made my roommate

. One can watch more and more people

. You begin naturally to think

. The author’s major concern is to make the reader
. We can find the consequences of the experiment
. To be astonishingly dramatic.

. to be far from ordinary life.

. Clear the room after the party.

O T QOO0 WNPE
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d. such course of events to be a disaster.

e. to expand greatly.

f. realize the consequences of tampering with nature.
g. to be a very simple question.

h. move into biology from other branches of science.

B. Translate the following sentences into Russianl:

1. The history of the last 30 years shows him to have done very well.

2. This allowed the rules to be followed.

3. We know him to have established a school of his own.

4. They considered all water on the surface of the planet to have

been liberated by volcanic action.

5. This analysis permitted them to tackle the problem directly.

6. This information enabled forecasts for the next few years to be made.
7. We know him to have objected to this style of research on previous
occasions.

Assignment 24.

Complete the text with the correct option A — C. Consult the dictionary if necessary:
DNA Fingerprinting: A Tool for Medical Detective

The use of (1) ...... fragment length (2) ...... (RFLPs) in DNA fingerprinting has caused a (3)
...... in many fields of biology. Nowhere has the impact of this technique been felt more than in
forensics, the (4) ...... of information to be used as evidence in court proceedings. First used in a court
case in 1986 in which blood (5) ...... from males in an entire British village were tested to solve the rape
and murder of two young women, DNA testing has since entered the mainstream of forensic science.
Because the PCR (polymerase chain reaction) technigue allows (6) ...... of minute quantities of DNA,
enough DNA to produce a NDA fingerprint can easily be obtained from a semen stain, cells at the base of
a(?)...... , skin fragments found under a victim’s fingernails after a struggle, or a speck of dried blood.
Forensic scientists have recently discovered that they can swab off objects regularly handled by a suspect,
such as a telephone handset, a briefcase handle, or the inside of vinyl gloves, and use DNA fingerprinting
on the collected ‘fingerprints’ themselves.

Some fascinating cases have used DNA from other species to solve murders. When a Phoenix,
Arizona, woman was found strangled near a palo verde tree in 1992, the prime suspect denied having
been at the crime scene. However, palo verde (8) ...... were found in the bed of the suspect’s pickup
truck. Homicide (9) ...... turned to Dr Timothy Helentjaris, then at the University of Arizona. In his
research on the evolution of crop plants, he had found considerable differences of the DNA fingerprints of
(10) ...... plants.

Helentjaris was given the seeds from the suspect’s truck along with seeds collected from a dozen
palo verde trees in the area, only one of which was near the body. Without knowing which was which,
Helentjaris (11) ...... DNA from the seeds and used PCR to amplify it.

DNA fingerprinting showed that the pattern from the seeds found in the truck exactly matched the
pattern from only one of the dozen trees — the one nearest the body. In an important additional test,
Helentjaris found that this pattern was also different from that of seeds collected from 18 trees at random
sites around Phoenix. This information was (12) ...... in (13) ...... the suspect’s alibi, and he was found
guilty of first-degree murder. DNA fingerprinting, combined with PCR, promises to revolutionize other
areas of biology and medicine as well. For instance, a group of British and Russian scientists used PCR to
identify the remains of the Russian royal family, Tsar Nicholas Romanov I, his wife, Alexandra, and
three of their five children.

In 1997, Oxford researchers using DNA fingerprinting were able to (14) ...... the longest (15)
...... (16) ...... ever traced. They extracted DNA from the bones of a 9000-year-old skeleton found in
1903 ina(17) ...... near the town of Cheddar, England. Wondering if (18) ...... of the ‘Cheddar Man’

might still live in the area, they analysed DNA from local families; amazingly, they found a match in a
Cheddar schoolteacher.

1 A destruction B restriction C retraction



2 A polymerisms B polymorphisms C polylithisms
3 A revolution B revolt C riot

4 A collocation B gathering C collection

5 A examples B species C samples

6 A amplification B implication C simplification
7 A shaft of bone B shaft of feather C hair shaft

8 A weeds B reeds C seeds

9 A researchers B investigators C explorers

10 A individual B separate C detached

11 A elicited B derived C extracted

12 A critical B crucian C crucial

13 A demolishing B embellishing C abolishing
14 A pounce B renounce C announce
15 A humane B human C humanistic
16 A lineage B linkage C linage

17 A cave B cavity C hollow

18 A descendants B ancestors C ascendants

18

Assignment 25
I. Read the text. Do you agree with the author?
A Throw-Away Society

| entered a big supermarket to shop: | needed several cans of drinks, a few chocolates, a
disposable tablecloth and some paper tissues, plastic glasses and plates (not to wash the dishes
afterwards) and a number of items one would buy when their friends are coming to your place to relax
and have fun. | packed everything into big celluloid bags, free to be taken by anyone, and left carrying
with me two dozens of objects rapped in various kinds of plastic to throw away 40 % of what | had
bought as rubbish. T think it doesn’t surprise anyone nowadays that we have to throw many things away
after using them. We do not know what to do with a colourful wrapping or an empty box of chocolates.
These things can be easily bought next time you are in a shop. So we throw them away. We do not know
where to put industrially used materials. So we pour them into the sea or deposit them in huge cemeteries
of rubbish. A human being has become so used to having everything new and shining that one would
spend all his or her money to buy a new mobile phone even if the old one is still working. It is
fashionable. It is reliable. For a society to become environmentally aware, more than just a course of
lectures at a school or college is needed. One may listen to a hundred lectures but what can he do if he is
made to throw away half of the things he’s bought? We do not pay attention to that — it has become
normal. Dustbins are being filled every day with new tons of rubbish. ecycling has become a major issue
in the previous century and no doubt it is being much thought about today. Most European and some
Asian countries have started recycling programmes, and one can find three dustbins for different kinds of
waste products in the garden of the average Englishman. The garbage is then collected and sent to special
factories that use recycled materials to produce new things. To recycle is to survive.

Assignment 26

Read the text. The exercise after the text will help you with the new words:
The Discovery of the Double Helix

A. In the early 1950s, many biologists realized that the key to understanding inheritance lay in the
structure of DNA. They also knew that whoever deduced the correct structure of DNA would receive
recognition from fellow biologists, fame in the popular press, and very possibly the Nobel Prize. Less
obvious were the best methods to employ and who would be the person to do it.

B. The betting favourite in the race to discover the structure of DNA had to be Linus Pauling of
Caltech. Pauling probably knew more about the chemistry of large organic molecules than did any person
alive, and he had realized that accurate models could aid in deducing molecular structure. Like Rosalind
Franklin and Maurice Wilkins, Pauling was an expert in X-ray diffraction techniques. Finally, he was
almost frighteningly brilliant. In 1950s, he demonstrated these traits by showing that many proteins were
coiled into single-stranded helices. Pauling, however, had two main handicaps. First, for years he had
concentrated on protein research, and therefore he had little data about DNA. Second, he was active in the
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peace movement. During the early 1950s, some government officials, including Senator Joseph
MrCarthy, considered such activity to be potentially subversive and possibly dangerous to national
security.

C. The second most likely competitors were Wilkins and Franklin, the English scientists who had
set out to determine the structure of DNA by the most direct procedure, namely the careful study of the
Xray diffraction patterns of DNA. They were the only scientists who had very good data about the
general shape of the DNA molecule. Unfortunately for them, their methodical approach was also slow. D.
The door was open for the eventual discoverers of the double helix, James Watson and Francis Crick, two
young scientists (American and English, respectively) with neither Pauling’s tremendous understanding
of chemical bonds nor Franklin and Wilkins’s expertise in Xray analysis. They did have three crucial
advantages: (1) the knowledge that models could be enormously helpful in studying molecular structure, a
lesson learned from Pauling’s work on proteins; (2) access to the X-ray data; and (3) a driving ambition to
be first.

E. Watson and Crick did no experiments in the ordinary sense of the word; rather, they spent their
time thinking about DNA, trying to construct a molecular model that made sense and fit the data. Because
they were based in England and because Wilkins was very open about his d Franklin’s data, Watson and
Crick were familiar with all the X-ray information relating to DNA. This information was just what
Pauling lacked. Because of Pauling presumed subversive tendencies, the US State Department refused to
issue him a passport to leave the United States, so he could neither attend meetings at which Wilkins
presented the X-ray data nor visit England to talk with Franklin and Wilkins directly.

F. Watson and Crick knew that Pauling was working on DNA structure and were terrified that he
would beat them to it. In his book The Double Helix, Watson recounts his belief that, if Pauling could
have seen the X-ray pictures, ‘in a week at most, Linus would have the structure’.

G. You might be thinking now, ‘But wait just a minute! That’s not fair. If the goal of science is to
advance knowledge, then everyone should have access to all the data. If Pauling was the best, he should
have discovered the double helix first.” Perhaps so. But science is an activity of scientists who, after all,
are people too. Although virtually all scientists want to see the advancement and benefit of humanity,
each individual also wants to be the one responsible for that advancement and to receive the credit and the
glory. The ambition to be first helps inspire the intense concentration, the sleepless nights, and the long
days in the laboratory that ultimately produce results.

H. Linus Pauling remained in the dark about the correct X-ray pictures of DNA and was beaten to
the correct structure. When Watson and Crick discovered the base-pairing rule that was the key to DNA
structure, Watson wrote a letter about it to Max Delbruck, a friend and advisor at Caltech. He asked
Delbruck not to reveal the contents of the letter to Pauling until their structure was formally published.
Delbruck, perhaps more of a model scientist, firmly believed that scientific discoveries belong to the
public domain and promptly told Pauling all about it. With the class of a great scientist and a great person,
Pauling graciously congratulated Watson and Crick on their brilliant solution of the DNA structure. The
race was over.

. In paragraphs A—H of the text find words meaning the following:
. praise, respect or admiration (A)

. the person or animal who is expected to win the competition (B)
. correct or true in every detail (B)

. very intelligent (B)

. a disadvantage that prevents you from doing something well (B)
. intended to destroy the power of the government (B)

. to start working in order to achieve an aim (C)

. in the order in which they were mentioned (D)

. special skill or knowledge that you get from experience, training
or studying (D)

10. to do something before someone else (F)

11. to say what happened (F)

12. praise for something you have done or achieved (G)

13. after a process or activity has ended (G)

14. to make known (something secret or hidden) (H)

OCo~NOoOOUTh,wWNRE —

Assignment 27
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A. Read the following passage about Gregor Men]del’s life. Find six false facts in the story

below:

Before settling down as a monk in the monastery of St Thomas in Briinn (now Brno, in the Czech
Republic), Gregor Mendel tried his hand at several pursuits, including teaching health care. To earn his
medical certificate, Mendel attended the University of Vienna for 2 years, where he studied botany and
mathematics only. This training proved very important to his later experiments, which were the
foundation for the modern science of genetics. At St Thomas in the mid-1700s, Mendel carried out both
his monastic duties and broke ground in a series of experiments on inheritance in the common edible pea.
Although Mendel knew little about genes or chromosomes, we can more easily follow his experiments
after a brief look at some modern genetic concepts.

B. Match parts of the sentences and translate the resulting text into both Russian and English:
1. Bacteria from the DNA library are sparsely distributed over a culture...
a. ...[I0CJICA0BATCIBbHOCTh HYKJICOTUAOB, KOMIIJICMCHTAPHBIX HY>KHOMY I'CHY.
2. Each bacterium multiplies into a visible bacterial population (called a colony)...
b....Ha YallKy JJId KyJIbTUBUPOBAHUA.
3. A sheet of special filter paper is pressed...
C. ...HalikKax, BOCIIpOU3BOJA Hy)KHBIﬁ TCH.
4. 1t picks up a few bacteria from each colony, ...
d. ...MecTomonoXeHneM OaKTepHaIbHBIX KOJOHHUI Ha MEPBOHAYAIBFHOHN Yalllke A7l KyJIbTHBUPOBaHUS.
5. The original culture dish... e. ...comepaieii mUTATEIBHYIO CPEY.
€. ...coaepiKallel MUTATENbHYIO CPELy.
6. The filter paper is placed in a basic solution, breaking open the bacteria, freeing the plasmids, and...
f. ...comepkaliyro eAMHUYHBIN THIT KOMOMHaIWU «wiazmuga — JJHK dyenoBekay.
7. The paper is bathed in solution of neutral pH that contains a DNA probe (yellow),...
g. ...0akTepuil, comep KanuX TUIa3MHIBI C HYKHBIM T€HOM.
8. The probe hydrogen-bonds only to plasmid DNA that is complementary to the nucleotide sequence of
the probe and...
h. ...paznenss aeynuteByto JJHK 1uma3mun Ha OAMHOYHBIE HUTH.
9. The locations of radioactivity on the paper are matched to the...
1. ...CIIeZIOBaTEIIbHO, COJICPIKUT YEIIOBEUCCKHI T'CH.
10. Colonies in the same position consist of...
j- .-.OCTaeTCsi B COXpaHHOCTH.
11. Samples of these bacteria are now cultured in new...
k. ...COXpaHss MMO3UIHUU KOJIOHUH.

Assignment 28

I. Read the extract from a textbook and write out all the terms relevant to the topic of the unit and
their definitions contained in the text:

A gene’s specific physical location on a chromosome is called a locus (plural ‘loci’). Homologous
chromosomes carry the same genes, located at the same loci. Although the nucleotide sequence at given
gene locus is always similar on homologous chromosomes, it may not be identical. These differences
allow different nucleotide sequences at the same gene locus on two homologous chromosomes to produce
alternate forms of the gene, called alleles. Human A, B, and O blood types, for example, are produced by
three alleles of the same gene.

If both homologous chromosomes in an organism have the same allele at a given gene locus, the
organism is said to be homozygous at that gene locus. (‘Homozygous’ comes from Greek words meaning
‘same pair’.) If two homologous chromosomes have different alleles at a given gene locus, the organism
is heterozygous (‘different pair’) at that locus and is called a hybrid. During meiosis, homologous
chromosomes are separated, so each gamete receives one member of each pair of homologous
chromosomes. Therefore, all the gametes produced by an organism that is homozygous at a particular
gene locus will contain the same allele. Gametes produced by an organism that is heterozygous at the
same gene locus are of two kinds: half of the gametes contain one allele, and half contain the other. (...)

Mendel’s choice of the edible pea as an experimental subject was critical to the success of his
experiments. In plants, a male gamete, which for simplicity we’ll call the sperm, is contained in each
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pollen grain. The structure of the pea flower normally prevents another flower’s pollen from entering.
Instead, each pea flower normally supplies its own pollen, so the egg cells in each flower are fertilized by
sperm from the pollen of the same flower. This process is called self-fertilization. Even in Mendel’s time,
commercial seed dealers sold many types of peas that were true-breeding. In true-breeding plants, all the
offspring produced through self-fertilization are homozygous for a given trait and are essentially identical
to the parent plant.

Although peas normally self-fertilize, plant breeders can also mate plants by hand, a process
called cross-fertilization. Breeders pull apart the petals and remove the stamens, preventing self-
fertilization. By dusting the carpels with pollen they have selected, breeders can control cross-
fertilization. In this way, two true-breeding plants can be mated to see what types of offspring they
produce.

In contrast to earlier scientists, Mendel chose to study traits — heritable characteristics — that are
unmistakably different forms, such as white flowers versus purple flowers, and he worked with one trait
at a time. These factors allowed Mendel to see through to the underlying principles of inheritance.
Equally important was the fact that Mendel counted the numbers of offspring with each type of trait and
analysed the numbers. The use of statistics as a tool to verify the validity of results has since become an
extremely important practice in biology.

I1. Add to the list of terms the following and write their definitions in English:

1. first-generation offspring 8. phenotype

2. second-generation offspring 9. the Punnett square method (by R.C.Punnett)
3. parental generation 10. test cross

4. Mendel’s law of segregation 11. linkage

5. dominant allele 12. crossing over

6. recessive allele

7. genotype

Assignment 29
I1. Complete the text with the correct option A - C:
Mycorrhizae Are Fungi Associated with the Roots of Many Plants

Mycorrhizae (single ‘mycorrhiza’) are important (1) ...... associations between fungi and plant
roots. Over 5,000 species of mycorrhizal fungi (mostly basidiomycetes) are known to grow in intimate (2)
...... with the roots of about 80% of all plants that have (3) ......, including most trees. These associations
“4)...... both the plant and its fungal partner. The (5) ...... of mycorrhizal fungi surround the plant root

and commonly invade the root cells. The fungus digests and absorbs minerals and organic nutrients from
the soil, passing some of them directly into the root cells. The fungus also absorbs water and passes it to
the plant — an advantage in dry, sandy soils. In return, sugar produced photosynthetically by the plant is
passed from the root to the fungus. Plants that participate in this unique relationship, especially those in
poor soils, tend (6) ...... and more vigorously than do those deprived of the fungus. (7) ...... new data
suggest that mycorrhizae and other types of fungi may be undergoing a (8) ...... decline that could
threaten the health of forests and the communities of plants and animals that rely on them.

Some scientists believe that mycorrhizal associations may have been important in the invasion of
land by plants more than 400 million years ago. Such a relationship between an aquatic fungus and a

green alga ((9) ...... to terrestrial plants) could have helped the alga (10) ...... the water and mineral
nutrients it needed to survive out of water.

1 A symbolic B symbiotic C symptomatic
2 A association B assortment C assimilation
3 A stems B branches C roots

4 A benefit B do harm C destroy

5 A hyphal B hyphen C hyphae

6 A to grow larger B to grow together C to grow lean
7 A Exciting B Encouraging C Disturbing

8 A tragic B dramatic C bad

9 A ancestral B predecessor C ancestor

10 A require B quire C acquire

Assignment 30



A. @) Check the Russian translation of the words and phrases below:

1. peptides a. amino-acid derivatives

2. steroids b. prostaglandins

3. target cells bind to receptors c. intracellular second messengers

4. cyclic AMP d. diffuse through the plasma membranes
5. the hormone-receptor complex e. the transcription of specific gene.

6. thyroid hormones f. negative feedback

7. to inhibit further secretion of hormone 0. the mammalian endocrine system

8. clusters of cells h. a network of capillaries

9. the thyroid and parathyroid glands i. the pancreas

10. the adrenal glands j. the pineal gland

11. thymus k. the hypothalamus — pituitary complex

B. Think and choose the right answer:

1. Steroid hormones ......

a. alter the activity of genes.

b. trigger rapid, short-term responses in cells.

c. work via second messengers.

d. initiate open channels in plasma membranes.

e. bind to cell-surface receptors.

2. Examples of posterior pituitary hormones are ......
a. FSH (follicle-stimulating hormone) and LH (luteinizing hormone).
b. prolactin and parathormone.

c. secretin and cholecystokinin.

d. melatonin and prostaglandin.

e. ADH (antidiuretic hormone) and oxytocin.

3. Negative feedback to the hypothalamus controls the level of ......
in the blood.

a. thyroxine

b. estrogen

. glucocorticoids

. insulin

. all of the above

. The primary targets for FSH are cells in the ......

. hypothalamus.

ovary.

. thyroid gland.

. adrenal medulla.

. pituitary gland.

. The kidney is a source of ......

. thyroxine and parathormone.

. calcitonin and oxytocin.

. renin and erythropoietin.

. ANP (atrial natriuretic peptide) and epinephrine.

. glucagon and glucocorticoids.

6. Hormones that are produced by many different body cells and
cause a variety of localized effects are known as ......
a. peptide hormones.

b. parathormones.

c. releasing hormones.

d. prostaglandins.

e. exocrine hormones.

D

Assignment 31
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I. Look through the text. Put all the paragraphs in order:
The Evolution of Hormones

A Thyroxine regulates the seasonal molting of most vertebrates. From snakes to birds to the
family dog, surges of thyroxine stimulate the shedding of skin, feathers, or hair. In humans (who neither
migrate regularly, metamorphose, nor molt), thyroxine regulates growth and metabolism.

B The use of chemicals to regulate cellular activity is extremely ancient. The diversity of life on
Earth rests upon a conservative foundation: a relative handful of chemicals coordinate activities within
single cells and among groups of cells. Life’s diversity originated in part by changing the systems used to
deliver the chemicals and by evolving new types of responses. Early in their evolution, animals developed
a complemented to hormonal communication that provides faster, more precise delivery of chemical
messages: the nervous system. The nervous system permits rapid responses to environment stimuli,
flexibility in response options, and ultimately consciousness itself.

C Not long ago, vertebrate endocrine systems were considered unique to our phylum, and the
endocrine chemicals were thought to have evolved expressly for their role in vertebrate physiology. In
recent years, however, physiologists have discovered that hormones are evolutionarily ancient. Insulin,
for example, is found not only in vertebrates but also in protists, fungi, and bacteria, although research has
not yet determined the function of insulin in most of those organisms. Protists also manufacture ACTH,
even though they have no adrenal glands to stimulate. Yeasts have receptors for estrogen but no ovaries.
Thyroid hormones have been found in certain invertebrates, such as worms, insects, and molluscs, as well
as in vertebrates. Even among vertebrates, the effects of chemically identical hormones, secreted by the
same glands, may vary dramatically from organism to organism. Let’s look briefly at the diverse effects
that the thyroid hormone thyroxine has on several different organisms.

D In amphibians, thyroxine has the dramatic effect of triggering metamorphosis. In 1912, in one
of the first demonstrations of the action of any hormone, the tadpoles were fed minced horse thyroid. As a
result, the tadpoles metamorphosed prematurely into miniature adult frogs. In high mountain lakes in
Mexico, where the water is deficient in the iodine needed to synthesize thyroxine, natural selection has
produced one species of salamander that has the ability to reproduce while still in its juvenile form.

E Some fish undergo radical physiological changes during their lifetimes. A salmon, for example,
begins life in fresh water, migrates to the ocean, and returns to fresh water to spawn. In the stream where
the salmon hatched, fresh water tends to enter the fish’s tissues by osmosis; in salt water, the fish tends to
lose water, becoming dehydrated. The salmon’s migrations, therefore, require complete revamping of salt
and water control. In salmon, one of the functions of thyroxine is to produce the metabolic changes
necessary to go from life in streams to life in the ocean and back.

Assignment 32

A. Match the words in A with their definitions in B and translate them into Russian:
A

1. homeostasis 5. endocrine gland
2. salivary gland 6. hypothalamus

3. pituitary gland 7. negative feedback
4. retina

B

a. a multilayered sheet of nerve tissue at the rear of camera-type yes, composed of photoreceptor cells
plus associated nerve cells that refine the photoreceptor information and transmit it to the optic nerve

b. a situation in which a change initiates a series of events that tend to counteract the change and restore
the original state. In physiological systems it maintains homeostasis

c. a ductless, hormone-producing gland consisting of cells that release their secretions into the
extracellular fluid from which the secretions diffuse into nearby capillaries

d. an exocrine gland that releases saliva into the mouth

e. a region of the brain that controls the secretory activity of the pituitary gland; synthesizes, stores, and
releases certain peptide hormones; directs autonomous nervous responses

f. an endocrine gland, located at the base of the brain, that produces several hormones, many of which
influence the activity of other glands

g. the maintenance of a relatively constant environment required for the optimal functioning of cells,
maintained by the coordinated activity of numerous regulatory mechanisms, including the respiratory,
endocrine, circulatory, and excretory systems
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B. Read and translate the text.
Life

All of us have an intuitive understanding of what it means to be alive. However, defining life is
difficult, partly because living things are so diverse and non-living matter looks like life in some cases.
What’s more, living things cannot be described as the sum of their parts. The quality of life emerges as a
result of incredibly complex, ordered interactions among these parts. Among the characteristics of living
things that, taken together, are not shared by non-living things are the following: living things consist of
organic molecules, they acquire and use materials and energy from their environment and convert them
into different forms, they grow and reproduce.

Assignment 33

Read and translate the following text:
Robot Cricket Finds Her Mate

The cheerful chirping of a cricket is actually the ‘call song’ of the male as he attempts to attract a
female. The female follows the song unerringly, deftly detouring around obstacles and ignoring other
sounds en route to her prospective mate. How intelligent is this apparently purposeful behaviour? Barbara
Webb, a psychologist at the University of Edinburgh, Scotland, attacked this problem in a novel way; she
built robot female cricket. Webb’s goal was to find out whether mate-finding behaviour could be distilled
down to taxes, relatively simple responses to stimuli, such as responses that could be wired into an
electronic robot (and thus wired into genetically predetermined neural connections). Although its tangle
of wires appears bewildering, the circuitry of the robot is trivial when compared with the potential
complexity of neural connections — even in a cricket’s brain.

On the laboratory bench, a loudspeaker ‘male cricket’ broadcasts its species-specific call song:
short, regularly repeating tones. As the robot rolls forward, microphonic ears conduct the song to
electronic circuitry that filters it from other sounds and adds together the repeating syllables of the song
that reach each ear. The summed sounds in the ear closest to the loudspeaker reach a critical threshold
level first, activating a mechanism that turns the robot toward the sound. The turning halts when an equal
intensity of sound hits both ears. Sensory ‘bumpers’ help the robot detour around obstacles. The success
of ‘robocricket’ surpassed Webb’s expectations; it not only found its ‘mate’ but it unexpectedly mimicked
other cricket-searching behaviours. Placed between two loudspeakers that broadcast at equal volume, the
robot, like a real cricket, arbitrarily chose one speaker. If the repeating syllables of the song were altered
between the two speakers, the robot (again, like a real cricket) first positioned itself exactly between
them, then made an arbitrary choice. The electronic circuitry provides insights into mechanisms that
could be used by a simple nervous system to produce complex adaptive behaviour.

Assignment 34
Complete the abstract with the correct option A — C. Consult the dictionary if necessary:
Animals May Defend Territories That Contain Resources

In many animal (1) ...... ,(2) ... for 3) ...... takes the form of territoriality, the defence of an
area where important resources are located. The (4) ...... resources may include places to mate, raise
young, feed, or store (5) ....... Territorial animals generally (6) ...... most or all of their activities to the
defended area and (7) ...... their presence there. Territories may be defended by males, females, a mated
pair, or entire social groups (as in the case of defence of their nest by social insects). However, territorial
behaviour is most commonly seen in adult males, and territories are normally defended against members
of the same species, who compete most directly for the resources being protected. For example, they can
be a tree where a woodpecker stores acorns, small (8) ...... in the sand used as nesting sites by cichlid
fish, a hole in the sand used as a home by a crab, or an area of forest (9) ...... food for a squirrel.

(10) ...... and defending a territory require considerable time and energy, yet territoriality is seen
in animals as diverse as worms, arthropods, fish, birds, and (11) ....... The fact that organisms as
unrelated as worms and humans independently (12) ...... similar behaviour suggests that territoriality
provides some important (13) ...... (14) ...... . Although the particular benefits depend on the species and
the type of territory it defends, some broad generalizations are possible. First (as with dominance
hierarchies), once a territory is established through aggressive interactions, relative peace (15) ...... as
boundaries are recognized and respected. The saying ‘good fences make good neighbours’ also applies to
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nonhuman territories. One reason for this (16) ...... is that an animal is highly motivated to defend its
territory and will often defeat even larger, stronger animals that attempt to invade it. (17) ...... , an animal
outside its territory is much less secure and more easily defeated.

For males of many species, successful territorial defence has a direct impact on reproductive
success. In these species, females are attracted to a high-quality (18) ...... territory, which might have
features such as large size, (19) ...... , food, and secure nesting areas. Males who successfully defend the
most desirable territories have the greatest chance of mating and passing on their genes. For example,
experiments have shown that male sticklebacks that defend large territories are more successful in (20)
...... mates than are males who defend small territories. Females who select males with the best territories
increase their own (21) ...... success and pass their genetic traits (typically including their mate-selection
preferences) to their offspring.

Territories are advertised through (22) ...... , sound, and (23) ...... . If the territory is small
enough, the owner’s mere presence (24) ...... by aggressive displays at (25) ...... , can be a (26) ......
defence. A mammal that owns a territory but cannot always be present may use pheromones to scent-
mark its terrestrial boundaries. Male rabbits use pheromones secreted by glands in their chin and by anal

glands to mark their territories. Hamsters rub the areas around their (27)

special glands in their glands.

1 A specimen B species C samples

2 A competence B competition C competency
3 A resources B reserves C supply

4 A defended B defeated C deseeded

5 A meal B nourishment C food

6 A restrict B refrain C restore

7 A advise B adverse C advertise

8 A destinations B depressions C degressions
9 A supplying B procuring C providing
10 A Acquiring B Requiring C Requiting
11 A mammas B mammoths C mammals
12 A evoked B evolved C involved

13 A adaptive B adoptive C abortive

14 A disadvantages B disabilities C advantages
15 A prevails B prevents C prewires

16 A aspect B extent C respect

17 A Inversely B Conversely C Diversely
18 A breeding B blooming C brooding
19 A abundant B redundant C excessive

20 A detracting
21 A creative

B attracting
B productive

C attributing
C reproductive

22 A seeing B sight C vision

23 A smell B scent C fragrance
24 A force B enforce C reinforce
25 A interveners B intruders C interrupters
26 A sufficient B suffocating C suffruticose
27 A fangs B teeth C dens

Assignment 35

Match the terms (1-6) with their definitions (A-F).

1. Corpus callosum

with secretions from

A. A pair of structures, originating from the forebrain, that contain the centers concerned with the major
senses, voluntary muscle activities, and higher brain functions, such as language and memory.

2. Cerebral hemispheres

B. Describes phenotypic character or condition recognizable at, and usually before, birth. The term
usually refers to hereditary or inborn conditions that are most often harmful.

3. Stroke
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C. A clear watery fluid containing glucose, salts, and a few white blood cells, that are found in the
internal cavities and between the surrounding membranes of the central nervous system. It cushions and
protects nerve tissues.

4. Cerebrospinal luid

D. A paroxysmal event due to abnormal, excessive, hypersynchronous discharges from an aggregate of
CNS neurons. Epilepsy is diagnosed when there are recurrent numerous events due to a chronic,
underlying process.

5. Seizure

E. A thick band of nerve fibers that connects the two cerebral hemispheres in the brain of placental
mammals. It enables coordination of the functions of the two hemispheres.

6. Congenital

F. A rapidly developing loss of brain function(s) due to disturbance in the blood supply to the brain,
caused by a blocked or burst blood vessel.

Assignment 36

A. Give definitions to the following terms connected with water:
to dehydrate / to rehydrate
to condense
fluid
water balance
hormone
kidney
sweating
evaporation

B. Match the following terms (1-4) with their definitions (a-d):

1. Obesity

a. A unit of energy in the metric system.

2. Calorie

b. A medical condition in which excess body weight has accumulated to the

extent that it may have an adverse effect on health, leading to reduced life expectancy and/or increased
health problems.

3. Randomised control trial

c. A plan of care written by a physician or other health care professional.

4. Prescription

d. A specific type of scientific experiment, and the gold standard for a clinical trial.

Assignment 37

A. Read the following definitions of ecology and choose the most suitable one from your point of
view:

Ecology is a branch of science dealing with the relations of plants and living things to each other and to
their environment.
Ecology is the natural relationship between plants, animals and people, and the places where they live.

B. Study the difference between these words:
Ecology, ecological, environment, environmental.
These words are sometimes used in the same way although they have different meanings. We have
already defined the term “ecology”, and the adjective connected with ecology is ecological. Environment
refers to the places or situations in which plants, animals and people live. The adjective “environmental”
has the same meaning. Sometimes “ecological” and “environmental” are used with the same nouns and
have the similar meaning.

Assignment 38
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A. Find Russian equivalents for the following English words and expressions:
argument
cell
cellular
despite/in spite of
diverse
efficient
living things
photosynthesis
substance
surroundings
survival
to argue for centuries
to be accepted
to be capable of
to be unresolved
to capture the energy
to convert the energy
to reproduce
to respond to

B. Read and translate the following text:
Characteristics of Living Things

Making up a list of the characteristics of living things is not as easy as it might sound. In fact,
scientists have argued for centuries over the basic characteristics that separate life and nonlife. Some of
these arguments are still unresolved. Despite these arguments, there do seem to be some generally
accepted characteristics common to all living things. We can state with some confidence that all living
things: are made up of one or more units called cells, - reproduce, - grow and develop, - obtain and use
energy, respond to their environment.

Assignment 39

A. Fill in the correct word(s) from the list below:
a body of knowledge
carrying out research
an invaluable tool
to bring about
to keep healthy
fruitful
an entire living organism
despite different arguments
comes to an end

1. The whole course in General Biology attempts ... ... an understanding of the terms “bios” (life) and
“logos” (study or science).

2. Science is viewed as ... ... accumulated over centuries.

3. The knowledge of biology helps us ... ... and also enables people to solve many scientific and
everyday problems.

4. In... ... modern biologists use the scientific method that covers several stages.

5. In almost all areas of biology the computer has become ... ... that can be used to perform complex

tasks and analyse quantities of data.

6. The symbiosis of sciences is extremely ... ....

7. ... ... there do seem to be some generally accepted characteristics common to all living things.
8. A single cell itself can form ... ....

9. The ability to reproduce ... ....
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B. Match the following words with the definitions:

1. contribution A quality of not being the same

2. disease B plant with seeds in pods, used for food

3. explanation C science or practice of farming

4. variety D statement, fact, circumstance that make plain or clear
5. science E giving ideas, suggestions, helping to bring about

6. zoologist F tendency to pass characteristics on to offspring, etc.
7. heredity G illness; disorder of body or mind or of plants

8. inheritance H knowledge arranged in an orderly manner

9. pea I deriving qualities from ancestors

10. agriculture J expert in the science studying animals

Assignment 40
Put each of the following words in its place in the passage below:
conservatism  stability building national vision
associations  gardening living thatched pond
opportunities  privilege common health crime

The Love of Nature

Most of the British live in towns and cities. But they have an idealized (1) of the
countryside. To the British, the countryside has almost none of the negative (2) which it has
in some countries, such as poor facilities, lack of educational (3), unemployment and poverty.
To them, the countryside means peace and quiet, beauty, good (4) and no (5).
Most of them would live in a country village if they thought that they could find a way of earning a

(6) there. Ideally, this village would consist of (7) cottages built around an area of
grass known as a “village green”. Nearby, there would be a (8) ith ducks on it. Nowadays
such a village is not actually very (9), but it is a stereotypical picture that is well-known to the
British.

Perhaps this love of the countryside is another aspect of British (20). The countryside
represents (11). Those who live in towns and cities take an active interest in country matters
and the British regard it as both a right and a (12) to be able to go “into the country” whenever
they want to. Large areas of the country are official (13) parks” where almost no
(14) is allowed.

Even if they cannot get into the countryside, many British people still spend a lot of their time
with “nature”. They grow plants. (15) is one of the most popular hobbies in the country.

Assignment 41
A. Fill in the blanks using the following words:
Phenomena, data, species, nucleus, hypothesis, data, analysis, medium

1. Ecologists studied all the that had led to the catastrophe in this region.

2. The was confirmed by the obtained in the experiments.

3. We will be ready to finish the of our results after getting some additional

4. A lot of endangered are included into the Red Book.

5. The cell consists of the and a mass of protoplasm.

6. Most living things can’t live in aggressive because it destructs their vital organs.

B. Find the meanings of the following words and expressions in a dictionary and translate them
into Russian:
establish = set up (v) realize = understand (v)
appoint (v) follow (v)
retain = receive (v) available (adj)
summarize (v) amount of (n)
prominent = outstanding (adj) opportunity (n)
undergraduate (n) post-graduate (n)
supervision (n) issue (n)
adviser = advisor (n) ontribution (n)
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major in = specialize (v)

as far as sth is concerned

to solve a research problem

to take an active part in

share information about sth

to make (a great) contribution to = to contribute to
to have a good command of English.

Assignment 42

A. Complete the sentences below with the words from the box:

natural vegetation research fatigue

greenhouse planned

tirelessly fundamental work

described volumes

1. It was Prof. P. Krylov who (.......) to construct the (.......) of the Botanical Garden.

2. Prof. P. Krylov considered the (....... ....... ) to be the most important problem for all Siberian botanists.
3. A person can work here (.......) all day long without feeling a (.......).

4. By 1914 the scientist had completed the first (....... ....... ) called “The Siberian Flora” which consisted

of seven (.......).
5. Since 1934, Lydia Sergievskaya regularly went on expeditions around Siberia, studied and (.......) over
forty-three species of the Siberian flora.

B. Fill in the correct word(s) from the list below:

volumes learn

multi-level system besides the specialized

natural vegetation was engaged in exploring

research departments was transferred

medicine all day long

tireless efforts

1. Tomsk University was established due to ....... and ideas of the progressively-minded people of that
time.

2. Originally, Tomsk University had only one faculty — that of .......
3. In the early 2000 the Biology and Soil Studies Faculty ....... into the Institute of Biology.

4. ... , the students are taught the History of Russia, Cultural Studies, Physical Education, Russian and
English.
5. As far as the English language is concerned, the Biology students ....... it in order to read understand

and summarize scientific books.
6. At present, the Institute of Biology includes several .......

7. Prof. P. Krylov considered the (....... ....... .......) to be the most important problem for all Siberian
botanists.
8. A person can work here (....... ....... .......) without getting tired.

9. By 1914 the scientist had completed the work entitled “The Siberian Flora” which consisted of seven
(o)

10. L.Sergievskaya ....... ....... ...... the flora of Western Siberia.

11. In the late 1990s, the transitionto a ....... system of education started.

Assignment 43

Put the paragraphs of the following text in order, then read and translate the text.
Ozone Layer Depletion
Causes of ozone depletion. What is the ozone layer? The ozone hole
Ne _ Ozone (03) is a gas, and a variant of oxygen (02). Although it is present in very small
amounts in the atmosphere, significant reductions or increases in this gas can have important
environmental consequences. Ozone in the Earth's stratosphere is created by ultraviolet light striking
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oxygen molecules containing two oxygen atoms (02), splitting them into individual oxygen atoms
(atomic oxygen); the atomic oxygen then combines with unbroken O2 to create ozone, O3.

Ozone occurring higher up in the atmosphere, between 15 and 55 km above ground level (i.e., the
stratosphere) forms a protective barrier called the ozone layer, shielding the earth from extreme heat
radiated by the sun. Most of the atmosphere’s ozone is found in its two lowest layers: the troposphere,
which extends up to 12 km above the earth’s surface, and the stratosphere above it, which extends up to
about 50 km. The majority of ozone is found between 20 and 50 km above the ground, with the highest
0zone concentrations occurring between 20 and 25 km.

Oxygen and ozone in the stratosphere absorb ultraviolet (UV) radiation from the sun, preventing
it from reaching the earth. If radiation absorption did not occur, the consequences could be fatal for
humankind. Ultraviolet light of wavelengths between 280 and 320 nanometers is capable of decomposing
living substances: a strong dose to human skin causes cancer, eye damage such as cataracts, immune
system damage, damage to the DNA, and the small quantities that get through the ozone shield are an
important cause of cancer in people. Even 1% thinning of the layer could result in an increase of
thousands of skin cancer cases every year.

Ne  Ozone in the atmosphere is broken down when it absorbs ultraviolet radiation. This natural
process can be disrupted by the presence of pollutants. Chlorine speeds up the breakdown of ozone
molecules, thus leading to a depletion of the ozone layer. Chlorine is one of the constituents of CFCs.
CFCs, or chlorofluorocarbons, are artificial substances and they do not occur in nature. They have been
used for many years as propellants in aerosols, in the production of some foam packing for food and as
coolants in refrigerators. Moreover, in the presence of UV light, CFCs dissociate, releasing chlorine
atoms, which then go on to catalyze ozone destruction. It is necessary to say that CFCs have very long
atmospheric lifetimes, ranging from 50 to over 100 years, so the complete recovery of the ozone layer is
expected to require several lifetimes. The depletion of the ozone layer is a chain reaction and it includes
the following steps:

1) Cl1+ 03 — ClO + 02 — The chlorine atom changes an ozone molecule to ordinary oxygen.

2) CIO + O3 — Cl + 2 02 — The CIO from the previous reaction destroys a second ozone
molecule and recreates the original chlorine atom, which can repeat the first reaction and continue to
destroy ozone.

It is also established that the ozone is influenced by air pollutants which contain nitrogen. NO
(nitrogen monoxide) is formed in internal combustion engines. Accordingly, the launch of rockets,
missiles leads to the destruction of the ozone layer.

Ne  Depletion of the ozone layer could lead to the formation of the ozone hole. Ozone
depletion occurs in many places in the Earth's ozone layer, most severely in the Polar Regions. Ozone
hole is an area of the stratosphere in which the recent ozone levels have dropped to as low as 33%.
However, the ozone hole is not usually measured in terms of 0zone concentrations at these levels but by
reduction in the total column ozone, above a point on the Earth's surface, which is normally expressed in
Dobson units, abbreviated as "DU".

In 1974, scientists in the USA put forward their theory that CFCs could destroy ozone. In 1978,
the United States, Canada and Norway enacted bans on CFC-containing aerosol sprays that are thought to
damage the ozone layer. In 1982, British Antarctic Survey scientists detected a fall in ozone
concentrations above the southern ice cap. By October 1984, the hole over Halley Bay had shown a 30%
reduction in ozone. In 1987, 46 countries signed the Montreal Protocol on Substances that deplete the
ozone layer.

Assignment 44

Fill in the proper words from the list below:

significant occurs

aquatic environment splitting

combine absorb

tension delays

biogenesis recovery

depletion

1. Although ozone is present in very small amounts in the atmosphere, reductions or increases in

this gas can cause serious problems in the environment.
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2. Ozone is created by ultraviolet light striking oxygen molecules by two oxygen atoms into
individual oxygen atoms (atomic oxygen), which then with unbroken O2 to create ozone.

3. Oxygen and ozone in the stratosphere ultraviolet (UV) radiation from the sun, preventing it
from reaching the earth.

4. The presence of pollutants can disrupt the absorption of ultraviolet radiation that leads to a
of the ozone layer.

5. Chlorofluorocarbons have very long atmospheric lifetimes and the complete of the ozone layer
is expected to require several lifetimes.
6. Ozone depletion in many places in the Earth's ozone layer, but the largest ozone holes have

been registered in the Polar Regions.

7. The consequence of chemical pollution is the introduction of poisonous substances into the of

that affect water quality.

8. Polluted water the development or completely stops the process of water self-purification by
the vital activity of microorganisms.

9. Detergents widely used in household and industry decrease the surface of water and affect
marine life.

10. For marine such heavy metals as mercury, lead and cadmium are the most dangerous pollutants.

Assignment 45

Fill in the blanks with the words and word combinations given below:
oxygen

biosphere

energy

free oxygen
environment

carbon

hydrosphere
permanent inhabitants
mammals

pollinators

continual recycling
input of solar energy
constituents

biological activity
solar energy

plants
lithosphere
photosynthesis
nitrogen
atmosphere
Biosphere
The first step to understanding the interrelationship of living organisms and their non-living
is to begin with the sun. From it comes most of the on earth. But, it is largely

unavailable to animals directly. It must be transmitted to them by green vegetation through a process
known as . In this process the is transferred through a substance in the vegetation
called chlorophyll (from Greek, chloros, green, and phyllos, leaf) in the presence of water to become

and food sugar. Now, animals can receive their energy by eating or other animals

(who have eaten plants at some stage). As plants and animals decay, with the help of bacteria and fungi,
they release chemicals in the earth, helping to feed plants. This circulation makes the earth's basic
substances — , — and others move between the earth's main stratums: air —

, Water — , soil and rocks — and living organisms —

The biosphere (or sphere of life), sometimes described as «the fourth envelope» is all living
matter on the planet or that portion of the planet occupied by life. It reaches well into the other three
spheres, although there are no of the atmosphere. Relative to the volume of the Earth, the
biosphere is only the very thin surface layer which extends from 11,000 meters below sea level to 15,000
meters above. The biosphere contains great quantities of elements such as carbon, nitrogen and oxygen.
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Other elements, such as phosphorus, calcium, and potassium, are also essential to life, yet are present in

smaller amounts. At the ecosystem and biosphere levels, there is a of all these elements, which
alternate between the mineral and organic states.
The functioning of the ecosystem is based on the . Plants and photosynthetic

microorganisms convert light into chemical energy by the process of photosynthesis, which creates
glucose (a simple sugar) and releases free oxygen. Glucose thus becomes the secondary energy source
which drives the ecosystem. Some of this glucose is used directly by other organisms for energy. Other
sugar molecules can be converted to other molecules such as amino acids. Plants use some of this sugar,
concentrated in nectar to attract to help them in reproduction. Cellular respiration is the process
by which organisms (like ) break the glucose back down into its , water and carbon
dioxide, thus regaining the stored energy of the sun. Global air currents mix the atmosphere and maintain
nearly the same balance of elements in areas of intense and areas of slight biological activity.
Water is also exchanged between the hydrosphere, lithosphere, atmosphere and biosphere in regular
cycles. The oceans are large tanks, which store water, ensure thermal and climatic stability, as well as the
transport of chemical elements thanks to large oceanic currents.

Which of these statements are true or false? Correct the false sentences.

1. The biosphere is a sphere of soils and rocks.

2. At the ecosystem and biosphere levels, there is a continual recycling of carbon, nitrogen, oxygen and
other elements, such as phosphorus, calcium, and potassium.

3. The process of photosynthesis releases carbon.

4. Glucose and other sugar molecules are concentrated in nectar and attract pollinators to aid plants in
reproduction.

5. Water and carbon dioxide are the two constituents which cause the process of cellular respiration.

6. Water circulates between the hydrosphere, lithosphere, atmosphere and biosphere.

Assignment 46

1. Match the definitions with these words

1. Chemical pollution of water

a) defines as the content of corresponding amount of oxygen in it.

2. Pesticide

b) a large group of substances, which decrease the surface tension of water.

3. By-product

c) all living matter on the planet or that portion of the planet occupied by life.

4. Water quality

d) a branch of science dealing with the relations of plants and living things to each other and to their
environment.

5. Biosphere

e) the content of harmful impurities like inorganic (mineral salts, acids, basics, clay particles) and organic
substances (oil and petroleum products, organic matter, pesticides).

6. Detergents

f) the variety of life forms, the ecological roles they play, and the genetic diversity they contain.

7. Depletion of the ozone layer

g) the structural and functional unit of most living organisms.

8. Ecosystem

h) a system in which all the plants and living creatures in a particular area are considered together with
their physical environment

9. Ecology

i) the natural conditions in which people, animals and plants live.

10. Biodiversity

J) a substance produced during the making of something else.

11. Environment

k) the care and management of the natural environment.

12. Process of recycling

1) the process of treating the material for obtaining new products from things that have been used.
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13. Food chain m) a chemical substance used to kill insects which are dangerous for agricultural plants.
14. Cell n) the destruction of a layer high above the earth’s surface protecting the earth from the sun’s
harmful rays.

15. Conservation of nature

0) a series of living things, each of which feeds on the one below it in the series.

Assignment 47

Choose the correct item:

1. Ecology is the study of which includes all their characteristics: structure, functions, origin, evolution,
classification, interrelationships, and distribution.

a) living standards b) ecological systems c) internal structure d) external structure

2. Ecologists have made a great to world science.

a) contribution b) amount ¢) distribution d) revolution

3. Biologists have saved millions of lives by discovering the of many diseases and methods of their
prevention and cure.

a) principles b) roots c) errors d) causes

4. Fungi obtain their energy from the of organic compounds.

a) catabolism b) metabolism c) anabolism d) analysis

5. The principles of operation of the transmission electron microscope (TEM) are very to those of the
compound light microscope.

a) different b) popular ¢) familiar d) similar

6. Food is broken down during a process called

a) conversion b) digestion ¢) combination d) generation

7. Homeostasis an organism ability to maintain constant or stable conditions that are necessary for life.
a) refers to b) comes to ¢) goes to d) directs to

8. There is an enormous of life on the planet: from the microscopically small bacteria to the giant
organisms.

a) variety b) society c) vitality d) validity

9. All living things take in food from which they obtain matter for growth and energy for ____ .

a) supplement b) movement ¢) nourishment d) astonishment

Assignment 48

A. Fill in the correct word(s) from the list below:

proper, carry out, lack, proteins, broad, self-contained, helpful, bring about, qualified, communication
1. have very highly organized three-dimensional structures.

2. The post-graduates usually very serious experiments in the University chemical laboratories.

3. Although a great number of insects are harmful there are many which are to wildlife and man.

4. Microorganisms tissues.

5. Biology is such a science that no individual is an expert in all of its aspects.

6. Living things are made up of small units called cells.

7. The whole course in General Ecology attempts to an understanding of the terms “oikos” (home) and
“logos” (study or science).

8. If you want to become a good and a specialist, you will have to read a lot of special literature.

9. I want to learn English in a way and | try to do it regularly.

10. The brain sometimes is called the busiest centre in the world.

B. Underline the correct word

1. Have they completed already/yet the experiment?

2. They discussed all their problems last week/now?

3. Haven’t you turned on the microwave oven still/yet.

4. All the scientific papers are being/are often referred to.
5. John said that he had been to S.-Petersburg still/before.

Assignment 49
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From the History of Biology

The history of the biological science is of great interest. Biology is a challenging branch of
science which investigates all living things.. Even in the distant past, people learnt many important things
around them and passed on information about plants and animals. Prehistoric people survived by learning
which plants were good to eat and which could be used for medicinal purposes. Our an48 cestors began to
develop more reliable sources of food through primitive forms of agriculture. Some archeological
evidence suggests that people living in the Near East in 6500 BC were engaged in cultivating grains,
legumes, certain fruits, and other plants, such as figs, dines, pomegranates, dates etc. The Near Eastern
Centre and other major centres of origin of cultivated plants became very important at that time. Farming
would not have developed if people had not begun to realize which animals could produce food like milk
and eggs.

More than 2000 years ago the Middle East people understood the role that insects and pollen
played in the life cycle of plants. The ancient Egyptians studied the life cycles of insects and were
particularly interested in the changes they went through as they grew from larval to adult insects. The
ancient Mesopotamians even kept animals in what they thought to be the earliest zoological gardens. The
ancient Greeks, too, were greatly interested in understanding the world around them. Aristotle founded
the first botanical garden. When Aristotle died, he willed the botanical garden and its library to his pupil
and assistant Theophrastus. Theophrastus was an extraordinary man who had written 200 treatises about
plants. The most important ones which have survived are two books entitled “History of Plants” and
“Causes of Plants”. Thus, he made a great contribution to the study of Botany as one of the major
biological sciences.

After the fall of the Roman Empire, the centre of the scientific world moved to the Middle East. It
should be noted that Arabic, Persian and Turkish scientists did much to set out the foundations of the
modern science of Biology. Later on, in Europe, particularly in Germany, scholars such as Albertus
Magnus discussed the properties of life. He wrote seven books on plants and twenty six on animals.

Modern Biology really began in the 17th century. At that time, Antony van Leeuwenhoek (1632—
1723), in Holland, invented the microscope which had a profound effect on studies in the biological
sciences and led to the discovery of cells. It should be noted that the microscope allowed scientists to
discover bacteria, leading to an understanding of the causes of disease, while new knowledge about how
the human body works allowed others to find more effective ways of treating diseases.

All this new knowledge needed to be put into order and in the 18th century the Swedish scientist
Carl Linnaeus (1707-1778) classified all living things into the biological families we know and use today.
Thus, the Swedish botanist Linnaeus produced the elements to our present system of naming and
classifying plants.

In the middle of the 19th century, unnoticed by anyone else, the Austrian monk Gregor Mendel
(1822-1884) created his Laws of Inheritance, beginning the study of genetics that is an important part of
biology today. At the same time, while travelling around the world, Ch. Darwin (1809-1882) was
formulating the central principle of modern biology — natural selection as the basis of evolution. Charles
Darwin’s grand theory, evolution by natural selection, linked diverse biological facts into a coherent
whole. The evidence for evolution is overwhelming, it is a theory about the origin of adaptation,
complexity and diversity among Earth’s living creatures. Evolutionary theory is such a dangerously
wonderful and far reaching view of life that some people find it unacceptable, despite the vast body of
supporting evidence. Ch. Darwin’s theory seemed to challenge conventional religious beliefs of his time.
He described himself as an agnostic. In 1859 his revolutionary book entitled “The Origin of Species”
came out. Evolution is a beautiful concept, more crucial nowadays to human welfare, to medical science,
and to an understanding of the world than ever before.

It is hard to believe, but the nature of viruses has become evident only within the last half of the
20th century and the first step on the path of this discovery was taken by the Russian botanist Dmitry
Iwanovsky in 1892. Now we know that a virus is a noncellular particle made up of genetic material and
protein that can invade living cells.

In the 20th century, biologists began to recognize how plants and animals live and pass on their
genetically coded information to the next generation. The scientists James Watson and Francis Crick
merged evolutionary theory with genetics. They managed to solve the molecule’s double-helix structure.

Since then, because of developments in computer technology, there have been great advances in
the field of modern biology; it is an area of ever-growing knowledge. We have come a long way since
Charles Darwin looked for evidence making his numerous observations. The era of the genetic revolution
has come!
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Read the text again and decide if the following statements are true or false:

1. Even in the distant past, people learnt many important things around them and passed on information
about treating serious diseases.

ToFo

2. Farming would not have developed if people had not begun to understand which animals could produce
food like milk and eggs.

ToFo

3. K. Linnaeus founded the first botanical garden in Great Britain.

ToFo

4. Theophrastus was an extraordinary man, who had written 20 treatises about animals.

ToFo

5. Modern biology really began in the 19th century.

ToFo

6. The microscope allowed scientists to find more effective ways of treating diseases.

ToFo

7. Charles Darwin’s grand theory, evolution by natural selection, was able to link diverse biological facts
into a coherent whole.

ToFo

8. It is important to note that the nature of viruses became evident thanks to the work done by the Russian
philosopher Dmitry lwanovsky in 1888.

ToFo

9. The study of Biology hasn’t changed all over the centuries.

ToFo

Assignment 50

Fill in the proper words from the list below:

treatises advances

discover share

merge archeological evidences

concerned with insects and pollen

evolution noncellular

inheritance to overlap

to set out a microscope ... effect

looked for evidence

1. Some suggests that people living in the Near East in 6500 BC were engaged in cultivating
grains, legumes and certain fruits as well.

2. More than 2000 years ago the Middle East people understood the role that played in the life
cycle of plants.

3. Theophrastus was an extraordinary man who had written 200 about plants.

4. Arabic, Persian and Turkish scientists did much the foundations of the modern science of
Biology.

5. At that time Anton van Leeuwenhoek, in Holland, invented which had a profound

on studies of the biological sciences and led to the discovery of cells.

6. It should be noted that the microscope allowed scientists to bacteria which led to an

understanding of the causes of disease.
7. In the middle of the 19th century, unnoticed by anyone else, the Austrian monk Gregor Mendel created
the Laws of

8. Charles Darwin’s grand theory, by natural selection, linked diverse biological facts into a
coherent whole.

9. Now we know that a virus is a particle made up of genetic material and protein that can invade
living cells.

10. The scientists James Watson and Francis Crick managed to evolutionary theory with genetics.
11. Since then, because of developments in computer technology, there have been great in the

field of modern Biology.
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12. Genetics is the branch of biology the study of heredity and variation.

13. All organisms, from bacteria to animal, the same basic machinery that copies and translates
DNA into proteins.

14. We have come a long way since Charles Darwin making his numerous observations.

Kpurepun onieHkn NpakTH4eCcKOro 3agaHus (KKl DyHKT 2 Oajuia)

Bua paéornl IIkana oueHuBaHUs

6 0ansoB, eciu 3aJlaHWE BBITOJHEHO IOJHOCTHIO, JaHbI OTBETHl Ha BCE BOIPOCHI, HE
JIOTTYIIEHO HU OJTHOW OITUOKU

TIpakTrueckoe

3a1aHKe 4 63.]1.]13, €CJIK 3aJaHUE BBIIIOJHCHO IOJHOCTBIO, JaHbI HE ITOJHBIE OTBETHI HA BCE BOIIPOCHI,

AOIMYIIEHBI HC3HAYUTEIIbHBIC OIITNOKH

2 63.]1.]'[3, €CJIM 3aJaHuC BBIIIOJIHCHO YaCTUYHO, AOIMYHIICHBI CCpLé3HLIC OIIMOKHU npu
q)OpMyJ'II/IPOBKe OTBCTOB Ha IMMOCTAaBJICHHBIC BOIIPOCHI

0 0aJ10B, eCiy 3aJjaHUE HE BBIIOJIHEHO

TemaTuka 1Jis1 HAIUCAHUS cooﬁmem/m o JTUCHUIIJINHE «I/IHOCTpaHHLIﬁ A3BIK»

PazBuTre 6uoskonoruu B Poccun.

PazBuTHe OMOIKOIOTHN 32 PyOEIKOM.

Bbuoskonoruueckue Hayku B 00pa30BaHUH.

Maructepckue nporpammsl B 001acTu OMOSKOJIOTHY B YHUBEpcUTeTax bpuranum.
Marucrepckue nporpammel B 00macti 6noskosoruu B yuusepeuterax CLIA.
Marwucrtepckue nmporpaMMsl B 001actu 6nodkonoruu B EBporiefickux crpanax.
CoBpeMeHHbIE OM0IKOIOTUUECKUE TEOPHH.

CoBpeMeHHbIE OM03KOIOTHUECKUE HAIIPABICHUSL.

©ooNORAWDNE

Hogeiimue oTKpBITUS B 00JIACTH OMOIKOJIOTHH: OTCYSCTBCHHBIN OTIBIT.

=
o

. Hoseiimmme oTkpeiTHs B 00:macTH OMO3KOJIOTHE: 3apyOeKHBIHN OIIBIT.

-
-

. Oco0EHHOCTH AEeITEIbHOCTH OUO3KOJIOra.

=
N

. OcobenHocTH NMpohecCHOHATBHO-IEI0BOI KOMMYHHKALIKH.

[EN
w

. ®OpMBI MEKKYITBTYPHOTO MPO(HECCHOHATBHOTO OOIIIEHUS.

[EEN
IS

. YcToituuBble 000pOTHI HAYYHOM PEeUM: aHIII0-PyCCKUE COOTBETCTBUSL.

[EEN
a1

. Oco0eHHOCTH OOIIEHNUS B YCIIOBHAX MEX/TYHAPOIHOW HAYYHOH KOH(MEPEHIHH.

[EEN
(o2}

. KOMMyHHMKaTHBHBIE CTUIIM ¥ MEXKKYJIBTYPHBIE Pa3JINYKSL.

17. BupryanbHbie KOHPEPEHIIUH.

18. SI3bIk TpOdecCHOHATEHO-IETOBOTO OOIIEHUs KaK (DYHKIIMOHAIBHO-CTHIIMCTHYECKAS PA3HOBUIHOCTh
AHTJIMHACKOTO SI3bIKA.

19. Unnomaruka npodeccHoHaIbHO-IEI0BOTO S3bIKa.

20. Hogeiimue nocTwkenus B 001acTi IpoeccuoHatbHOro 00pa3oBaHus.

21. TepMHHOJIIOTMYECKHH ariapar rearornuyeckKux TEOPHid: PyCCKO-aHTIIMHCKUE COOTBETCTBHS.

22. JIekcuko-MOp(OIOrHIECKHe 0COOEHHOCTH MPOPECCHOHATBHO-/ENIOBOTO A3bIKA.

23. XapakTepHble YepThl aKaJEMHUIECKOTO CTHIIS.

24. OduumanbHbIi CTUIIL U KHUKHAS JIEKCUKA aHTIIMHCKOTO A3bIKA.

25. OdopmiteHne 3cce UITH aKaIeMHIECKUX MHCHMEHHBIX paboT.

26. VIcrionb30BaHKE CCHUIOK M LUTAT B aKaJEMUYECKHUX paboTax.

27. Buasl akafieMIYECKUX TEKCTOB.

28. CrpaTteruu 4reHus aKaJeMUIECKHX TEKCTOB.

29. MUKpPOHABBIKH, HEOOXOIUMBbIE [UIs DYHKIIMOHUPOBAHKS B AHTJIOA3BIYHON aKaJJeMHYECKON Cpe/ie.

30. MakpoHaBbIKH, HEOOXOAUMBIE JUTs (DYHKIIMOHUPOBAHMUS B AHIJIOS3BIYHOM aKaJ eMUIECKOM Cpee.

31. TloaroroBka pe3roMe Ha HHOCTPAHHOM SI3BIKE.
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32. llpuBuniia HanucaHusi aBTOOMOTrpadum.

33. Opranusanust MEpOIPUATHIA.

34. OcuoBHbIE (HOPMBI YCTHOTO JIEIOBOrO O0IIeHus (1enoBast Oecesa, TenedOHHbIE IEPErOBOPSI,
COBEILAHHKE, JICJIOBAst JIUCKYCCHSI, IPECC-KOH(PEPEHIIHs, IEPETOBOPHI, ITyOIMIHOE BBHICTYILICHHUE).

35. [paBuna mpoxXoxkIeHUS COOECET0BAHMSL.

Kpurepun oueHku cooo1eHust

Bua padotsl IIxana oneHNBaHUA

20 63.]'[.]103, €Clin  MpCACTABJICHHOC COO6HICHI/I6 CBUACTCIILCTBYET O IPOBCACHHOM
CaMOCTOATEIIPHOM HUCCIICAOBAHUHN C IIPHUBJICYCHUEM PA3JIMYHBIX MCTOYHHUKOB I/IH(l)OpMaLII/II/I;
JIOTUYHO, CBA3HO MW IIOJIHO PACKPBIBACTCA TEMA, 3aKIIOYCHHUE COACPXKUT JIOTUYHO
BBITCKAIOIIMEC U3 COACPIKAHUA BbIBOABI.

15 ©0amioB, ecid TPEACTaBICHHOE COOOIIEHHWE CBHUIETENBCTBYET O IPOBEISHHOM
CaMOCTOSITEIIPHOM HCCJICIOBAHUM C TIPUBJIICUCHUEM JBYX-TPEX HCTOYHHKOB WH(POPMAIIUH;
JIOTUYHO, CBS3HO W TIOJIHO PACKPHIBACTCS TEMa; 3aKIIOYCHUE COJCPKUT JIOTHYHO
BBITCKAIOIIMEC U3 COACPIKAHUA BbIBOALI.

Coo0Omenne

10 0GannoB, ecnu TPEACTAaBICHHOE COOOIIEHHWE CBHIIETENECTBYET O IPOBEICHHOM
UCCIICIOBAHUN C TPHUBJICYCHUEM OJHOIO HCTOYHHMKA HMHGOPMALUH;, TeMa pacKpbiTa He
IMMOJIHOCTBIO; OTCYTCTBYIOT BBIBOBI.

0 6an10B, ecu cOOOIIEHUE OTCYTCTBYET

Bonpocul ona akzamena
[onsTre npodeccruorpaMmmel.
Cucrema BbIciIero oopasoBanus B Poccun.
Cucrema Brictiero oOpasoBanus B bpurannu u CHIA.
Cuctema BhIcIIero oopasoBanust B EBporneiickux crpaHax.
Maructparypa B bpuranuu u CHIA.
Maructparypa B Poccun.
OOyueHne B MarucTparype B pa3iiMuHbIX YHHBEPCUTETAX MUPA.
Marucrepckue HalpaBiIeHHUs U KypChI.

©WooNo O wdE

HUc CJICOOBATCIIBCKUC MTPOrpaMMBbI MArUCTPATYPHI.

[EEN
o

. OGyyaromye mporpaMMbl MarucTpaTypsl.

[EEN
[EEN

. buoskomornueckue HAyKU B 06pa30BaT€HLHOM IIPOCTPAaHCTBEC

[EEN
N

. ypOBHI/I O6pa3OBaHI/ISI, AUTUIOMBI X1 YUCHBIC CTCTICHU B aHITIO-PYCCKUX COOTBETCTBUAX.

[HEN
w

. Hayynoe wccnenoBanne MarmcrpaHra: mpobiema, Ielb, 3aJaud, METOAbl HCCIIEI0BaHMA,
pe3yJIbTaThI.

14. TlepcrieKTUBBI pa3BUTHsS OUOIKOJIOTHH.

15. TIpodeccronansHoe 00pa3oBaHue B 00pa3oBaTEILHOM MIPOCTPAHCTBE.

16. Hayunas aesTeabHOCTb.

17. TepmunomOrKyecKkuii anmapar neJarorn4ecKux TEOPUi: PyCCKO-aHIIIMHCKHE COOTBETCTBHSL.

18. SI3bIk podeccHoHaTEHO-IETOBOr0 OOIIEHUs KaK (PyHKIMOHAIBHO-CTHIIMCTUYECKAS PA3HOBUIHOCTh

AHIJIMACKOTO SI3bIKA.

19. Jlekcuko-mopdonorngeckue 0cOGEHHOCTH TPOPECCHOHATEHO-IET0BOTO A3bIKA.

20. Uauomaruka mpodeccuoHaIbHO-IET0BOrO A3bIKA.

21. Buasl Ae10BOr0O OOIICHHUS.

22. )KaHpbl HAy4HOI peyn.

23. OcobennocTH MPo(hecCHOHANTLHO-IEN0BOM KOMMYHHUKALIHH.

24. YcTHas KOMMYHUKAIHS.




25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.

No ok~ owdheE

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.

20.
21.
22.
23.
24,
25.
26.
217.
28.
29.
30.
31.
32.

ITuceMeHHass KOMMYHUKAIIHSL.

Oco0EHHOCTH MEKKYJIBTYPHOTO MPO(HEeCCHOHATBHOIO OOIIECHHUS.
DopMBI MEXKKYIBTYPHOTO MPOPECCHOHATLHOTO OOIICHUS.
MexnyHapoHbIe KOH(PEPEHITUH 110 ONOIKOIOTHH.

MexKyIbTypHBIE pa3indus BepOaIbHOro U HEBEpOATHLHOTO MTOBEICHUS.
Jlexcuko-Mopdoornueckne 0COOEHHOCTH MPOQPECCHOHATHLHO-IETOBOTO SI3BIKA.
NnuomaTuka npodeccrnoHaIbHO-IeI0BOTO S3bIKa.
DopMambHEIH/HEGOPMATTEHBIN PETUCTPHI PEUH.

[NoHsITe KOMMYHUKATUBHOTO CTHIISL.

Buabl KOMMYHUKAaTUBHBIX CTUJIEH.

Hayunas npe3enTarusl.

Temamuxa cooduenuil 015 6bICMYNICHUA HA IK3IAMEHE
VYuenas crenens 6akanaspa B EBpone XI1-XI11 Bekos.
VYuenas crenens Maructpa B EBponie XI1-XI111 Bexos.
VYuenas crenenb qokropa B EBponie XII-XII1 Bexos.
Hepapxuueckas cucteMa cTeneHel «maructp» — «1o0krop» B XV-XVII Bekax.
[IpoGiieMa yHU(pUKAIMK YICHBIX CTETICHEH U 3BaHUIA.
«Bceobmas xaptus yausepcuteToB» (1988 1.).
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KouBeHIMs 0 Npu3HaHUU KBaTM(UKALIMH, OTHOCSIIUXCS K BBICIIEMY oOpa3oBaHuto B EBponetickoM

peruone (1997 r.)

CoBmectHast [lexyapanust O TapMOHM3ALUM CTPYKTYPbl CHUCTEMBI €BPOIICHCKOIO BBICILETO

oOpaszoBanus (1998 r.).

Hexmapamun 00 apXuTeKType BBICIIETo eBporeiickoro odpa3osanus (bononckas pexmapamnms, 1999

T.).
MHTepakTHBHAS TEXHOJIOTHS M €€ UCIIOIb30BaHUE MIPU 00yYCHUH OMOIKOJIOTHH.
[TpoekTHast TEXHOJIOTHS U €€ HCIO0JIb30BaHHE TIPH 00YUIECHHH OHOIKOIOTHH.

brouHo-MoysibHAS TEXHOJIOTHS M €€ MCIIOJIb30BaHUE TIPU 00YUCHUH OMOIKOJIOTHH.

MerToa keicoB pu 00yueHHH OMO3IKOJIOTHH.

[TpobeMHast TEXHOJIOTHS U €€ UCTIONIb30BaHUE MPH 00yYeHUH OMOIKOIOTHH.
JleGaThI-TeXHOJIOTHS U €€ MCIIOIB30BaHUE MTPH 00YIEHUH OHOIKOJIOTHH.
IToHATHIIHO-TEPMHUHOJIOTHYECKUH anmnapar NeJaroruuecKuxX TEXHOJIOTHil.
DBOJTIONHS HAYIHBIX 3HAHWU B Tiefaroruke B Poccum.

OBoIIOLMS HAYYHBIX 3HAHWH B 3apYOEKHOH Meaaroruke.

OOBeKTHBHBIE U CYOBEKTUBHBIE TPYIHOCTH B pa3pabOTKE TEPMUHOB M HOHSITHH B OINpEACIICHHOM

0071aCTH HAYYHOTO HCCIICIOBAHUS.

Wnromatika npogeccroHanbHO-AEI0BOr0 s3bIKa B cepe OMOIKOIOTHH.
Cucrema perucTpoB peyu.

DaKTOpHI PErYISILUU PEUEBOr0 OOIICHHS.

DopMabHBII PETUCTP PEUU.

HedopmanbHslii peructp pedu.

DOopMBI MEXKYJIBTYPHOI PO ecCHOHANBHON KOMMYHUKALIUH.

Bu0B MEXKYIBTYPHOM IPOPECCHOHATEHON KOMMYHUKAIIHH.

THIBI MEXKYJIETYPHOH PO ECCHOHANBHON KOMMYHHUKAIHH.

Bnoru u popymsl B obnacti 6uoskosoruu B Poccun.

bnoru u popymsl B 001acTi OHO3KOIOTHH 32 PYOEKOM.

Hayunsie nebaTsl B 001acTi OMO3K0JI0THH, OpraHu3yemsbie B Poccun.
Hayunsie ne6atsl B 001acTH OMO3KOJIOTHH, OpTaHU3YEMBIE 32 PyOeIKOM.
WHctpyMeHTsI Aiist co3anust 3h(HEeKTUBHOHN Mpe3eHTaIHH.
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33. Uctopus coznanust EBporeiickoro s36Ik0BOro moprhens.
34. AMepuKaHCKHI MOPTQENb yJaIierocs:
35. EBporneiickuii s13p1k0B0M TIopTdhens B Poccun.

Ik3ameH 1 cemecTp:

Dk3aMeH 1o qucuuiuinHe «VIHOCTpaHHBbIH S3BIK» COCTOMT M3 JABYX YaCTEH:
1) OTBeT MO MOJArOTOBJICHHOMY COOOIICHHIO;
2) OTBET Ha NPEUIOKCHHBIN BOIIPOC.

Mertoanuyeckue MaTepHuaJibl, ONpele/silOIIMe NPouelypbl OUEHMBAHUS 3HAHMHA, YMEHUId,
HABBIKOB H (WJIH) ONBITA eATeTbHOCTH, XapaKTePU3yIOIIUX 3Tanbl GOpMHUPOBAHUSA KOMITeTeHIHIA.

JucnunivHa «HMHOCTpaHHBIA f3bIK» 3aHUMAeT BaXXKHOE MeECTO B NpodecCHOHATbHOU
NO/ATOTOBKE BBbICOKOKBAJIMQULMPOBAHHOTO Iejarora B omnpejeJeHHOW mnpodeccuoHalbHON
06J1aCTH U SIBJIsIeTCA 00513aTe/IbHOM /151 U3yYeHHUs.

[IpakTu4yeckrde 3aHATHS MO AUCHUIUIMHE «WHOCTpaHHBIA SI3bIK» JOJKHBI MPOOGYAUTH
MHTepec CTYAEeHTOB K H3y4YeHUI0 O0cCOOGeHHOCTell peyeBOMl KOMMYHHKalLUKW B YCJIOBHUSAX
MEXKYJbTypHOro MpodecCHOHaIbHOrO O6lleHUs, pa3BUTh YMeHHe aHaJM3UPOBaTh HOBeHlIve
JIOCTHXKEeHHS B 06J1acTU IpodecCUOHAIbHOM JieATeJIbHOCTH C OLleHKOW MX 3HaYWMOCTH, CO3/1aBaTh
COOGCTBEHHbIE 00pa3Iibl pe4u Ha aHTJIMKCKOM fI3bIKe 110 TpodecCUOHATbHON TeMaTHKe.

CooOmieHne kak (opMa TEeKylmero KOHTpoJs mpeanonaraet 10-15-MUHYTHOE BBICTYIICHHE
MarucTpaHTa Ha MPaKTUYECKOM 3aHATHU Ha 3apaHee MOArOTOBICHHYI0 TeMy. CooO0IeHe HanpaBieHo Ha
(dbopMHpOBaHNE HaBbIKA W3JIOXKEHHUS CBOMX MbICJIEH B ycTHOW ¢opme. [lpu oneHnBaHHHM COOOIICHUS
YUUTBIBACTCA YMCHUC BBIACIUTL AKTYaJIbHbBIC HAYUYHBIC pa6OTBI 10 BbI6p3HHOI71 TEME,; MMPOAHATIU3NPOBATH
W3y4YCHHBIH MaTepual ¢ BhIICICHHEM HanboJiee 3HAYMMBbIX C TOUKH 3PEHHSI PACKPBITHSI TEMbI COOOLICHHS,
(aKTOB, MHEHHIi U HAYYHBIX TIOJI0KEHHIT; TOTUYECKU BHICTPOUTH MaTepUall COOOIICHHSI.

BrimonHeHne TpakTHYECKWX 3aJaHWi HaMpaBlIeHO Ha YriIyOJleHWe, COBEpIICHCTBOBAaHHE
npodecCHOHANBHBIX 3HAHUH U HaBBIKOB yYalllUXCsl, KOTOPBIE JOJDKHBI OBJIAAETh PA3IMYHBIMH METOIAMU
peUICHUA MPAKTUYCCKUX 3aa4 B XYHAOKCCTBCHHOM O6pa3OBaHI/II/I. KpI/ITepHCM OLICHKH NPAaKTUYCCKUX
3aJaHUi SBISIETCS: COOTBETCTBUE COAEPIKAaHMS paOOThI 3asBICHHON TeMe; IITyOrHa, OJIHOTA PACKPBITUS
TEMBI; YPOBEHb HAaBBIKOB CAMOCTOSITENILHON pabOThl C HAYYHOH JTUTEPATYPOH.

MaxkcuManbHOe KOJTMYECTBO 0alioB, KOTOPOE MOKET HaOpaTh MaruCTpaHT B TEUEHUE CEMECTpa
3a TeKyIIUH KOHTPOIb, paBHseTcs 70 Oammam.

MuHHMaJIbHOE KOJIHYECTBO OaIoB, KOTOPBIE MaruCTPaHT JOJKEH HAaOpaTh B TEUCHUE CEMeCTpa
3a TeKyIUi KOHTPoIb paBHseTcs 30 Gammam.

MaxkcumManbHasi cyMMa 0ajuioB, KOTOPbIE MaruCTPaHT MOXKET HOJIYYUTh HA 3K3aMEHE PaBHIETCS
30 Gammam.

DopMoii MPOMEXYTOUHON aTTeCTALMU SBISETCS SK3aMeH. DK3aMeH MPOBOAMUTCS B BUIE YCTHOTO
co0eceZI0BaHMsI [0 BOMPOCAM U BBICTYILICHHS IO TIOATOTOBICHHOMY COOOIIEHHUIO.

KpuTtepun oneHMBaHusI MPOMEKYTOYHOM aTTecTAIIMH (IK3aMEH)

«30-22»

1) TTosHOE YCBOGHME MaTepHaia;

2) YMeHue BbIICIUTH TIIABHOE, CIIENATh 00O0OIIAFOIINE BHIBOJIBL,
3) cueprbiBaroiiiee, rpaMOTHOE | SICHOE MTOYKEHNE MaTepraia;
4) CBobOIHOE BITajIcHHE OCHOBHBIMY TOHSTHSIMET,

5) TTonHble OTBETHI HA JIOTIOITHUATEILHBIC BOTPOCH,

«21-11»

1) JIocTaTouHO MOTHOE YCBOCHHE MATEpHAJIa;

2) YMeHue BBIIESTD TIIaBHOE, JIENATh BHIBOJIET,

3) I'pamoTHOE M3TIOKEHHE MaTepralia, OTCYTCTBHE HETOUHOCTEH;
4) 3HaHKE OCHOBHBIX MOHSTHIA;
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5) OTBeTHI HA IOTOHUTENHHbIE BOIPOCHT;

«10-1»

1) Obrriee 3HaHKE OCHOBHOTO MaTEpHaa;

2) Herounast hopMyImipoBKa OCHOBHBIX TIOHSTHI,

3) YMeHue MpUMEHHUTH CBOH 3HAHHS Ha MPAKTHKE C JIOMYIIEHAEM OLIHOOK;
4) 3HaHMe HEKOTOPHIX TIOHSTHIA;

5) 3aTpyaHeHns Py OTBETE Ha JAOTIOJIHUTENBHBIE BOIPOCHT,

«O»

1) He3Hanvie 3HAYMTENBHON YacTU MaTepuaa;

2) Cy1iiecTBeHHBIE OIIMOKY TIPY OTBETE Ha BOIPOC;

3) Hesnanne OCHOBHBIX ITOHSTHIA;

4) I'pyObie ommMOKY TpH MOTBITKE MPUMEHHUTH 3HAHKS Ha TIPAKTHKE;
5) HecriocoOHOCTB OTBETUTD Ha AOTIOIHUTEBHBIE BOTIPOCHL.

HToroBas mxajia oneHUBaHHUs pe3yJIbTATOB OCBOCHU S TMCHMILIMHBI

HWrtorosas OneHKa 1Mo AUCUMIUIMHE (HOPMHUPYETCS] U3 CyMMBbI Oa/UIOB 0 PE3YJbTaTaM TEKYLIEro KOHTPOJS U
TIPOMEKYTOYHON aTTECTAITNHN 1 BHICTABIISICTCS B COOTBETCTBHH C TIPHBEACHHON HIDKE TaOIHTICH:

Ouenka o 100-0amibHOI cucTeMe OreHKa 110 TpaIIMOHHOM ITKaje
81-100 OTJIMYHO
80-61 XOpOIIIo
60-41 YIIOBJIETBOPHUTEIHEHO
0-40 HE Y/IOBJIETBOPHUTEITHHO




